MIAMI-DADE COUNTY, FLORIDA

M IAMIDAD E METRO-DADE FLAGLER BUILDING

COUNTY

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPT ANCE (NO A) www.buildingcodeonline.com

Atrium Shutters, Inc.

4800 S.W. 51° Street

Davie, Florida 33314

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.039” (min.) Galvanized Steel Storm Panel Shutter

APPROVAL DOCUMENT: Drawing No. 08-169, titled 0.039” Galvanized Steel Storm Panel, sheets 1 through
16 of 16, and sheets 1A, 11A, & 12A of 16, prepared by Tilteco, Inc., dated 05/22/2008, last revision #1 dated
05/22/2008, signed and sealed by Walter A. Tillit Jr., P.E., bearing Miami-Dade County Product Control Renewal
stamp with the Notice of Acceptance number and expiration date by Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety. _

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 05-0927.01 and consists of this page 1, evidence submitted pages E-1, E-2, E-3 & E-4
as well as approval document mentioned above.

The submitted documentation was reviewed by Helmy A. Makar, P.E., M.S.

J NOA No. 08-0611.02
M'AM"UNTY (/éb/’?// M\/ Expiration Date: 06/26/2013
Approval Date: 07/31/2008

o7 /31 /2008 Page 1



Atrium Shutters, Inc.

[y

>

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL No. 96-1101.02

DRAWINGS

1.  Drawing No. 96-297, Robico, Inc., 20 gage Storm Panels, Sheets 1, 2, 3, 4, 5, 6, 7, and 8 of
8, prepared by Tilteco, Inc., dated 06/05/97, signed and sealed by Walter A. Tillit Jr., P.E.

TESTS

L Test report on Uniform Static Air Pressure Test of 20 gage storm panels, prepared by
Hurricane Engineering & Testing Inc., Report No. HETI-96-570, dated Sept. 18, 1996,
signed and sealed by Hector M. Medina, P.E.

2. Test report on Large Missile Impact and Cyclic Wind Pressure Test, of 20 Gage Steel
Storm Panels, prepared by Hurricane Engineering & Testing Inc., Report No. HETI-96-
569, dated Aug. 09, 1996, signed and sealed by Hector M. Medina, P.E.

CALCULATIONS

1. Storm panel shutter calculations, Sheets 1 through 17 by Tilteco, Inc., signed and sealed
by Walter A. Tillit Jr., P.E., dated 10/30/96.

2.  Storm panel shutter calculations, Sheets 1 through 17 by Tilteco, Inc., signed and sealed
by Walter A. Tillit Jr., P.E., dated 05/19/97.

MATERIAL CERTIFICATIONS

1.  Mill Certified Inspection Report, dated 10/05/96, for Hot Dipped Galvanized Steel,
ASTM A446 Grade C by Robert O'Neil of R & R Metals, Inc., with chemical
composition and physical properties.

2. Tensile Test Reports from Hurricane Engineering & Testing Inc., Job No. HETI-96-
T30 dated 10/20/96 for galvanized steel, tested per ASTM E8-93, signed and sealed by
Hector M. Medina, P.E.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL No. 99-0317.04

DRAWINGS

1. Drawing No. 96-297, titled “20 Gage Storm Panel”, prepared by Tilteco, Inc., dated
September 20, 1996, last revision dated May 5, 1999, sheets 1 through 15 of 135, total
of 16 sheets including sheet 104 of 15, signed and sealed by Walter A. Tillit, Jr., P.E.

TESTS

1. Test reports on Uniform Static Air Pressure Test, SFBC PA 202-94, Large Missile
Impact Test, SFBC PA 201-94 and Cyclic Wind Pressure Test SFBC PA 203-94 of 20
ga. galvanized steel storm panels, prepared by Fenestration Testing Laboratory, Inc.,
Test Report No. 2032, dated April 16, 1998, signed and sealed by Gilbert Diamond,

VAl Al

Hélfy A. Makar, P.E., M.S.
Product Control Examiner
NOA No. 08-0611.02
Expiration Date: 06/26/2013
Approval Date: 07/31/2008




Atrium Shutters, Inc.

> @

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

Test reports on Uniform Static Air Pressure Test, SFBC PA 202-94, Large Missile
Impact Test, SFBC PA 201-94 and Cyclic Wind Pressure Test SFBC PA 203-94 of 20 ga.
galvanized steel storm panels, prepared by Fenestration Testing Laboratory, Inc., Test
Report No. 2126, dated October 5, 1998, signed and sealed by Gilbert Diamond, P.E.

CALCULATIONS

1. Anchor analysis, 20 ga. Galvanized Steel Storm Panel, dated May 06, 1998, pages 1
through 11 of 11, prepared by Tilteco, Inc., signed and sealed by Walter A. Tillit, Jr.,
PE

2. Anchor analysis, 20 ga. Galvanized Steel Storm Panel, dated November 04, 1998,
pages 1 through 14 of 14, prepared by Tilteco, Inc., signed and sealed by Walter A.
Tillit, Jr., P.E.

MATERIAL CERTIFICATIONS

1. Mill Certified Inspection Report issued by R & R Metals, Inc., dated 07/02/98 with
chemical composition and mechanical properties of 20 ga. grade 40 galvanized steel
per ASTM A446-C.

2. Certified Tensile Test Report Number CTL #634D, prepared by Certified Testing
Laboratories, dated July 15, 1998, tested as per ASTM E-8, for steel storm panel,
signed and sealed by Ramesh Patel, P.E.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL No. 00-0307.04
DRAWINGS
1. None.

TESTS
1. None.

CALCULATIONS
1.  None.

MATERIAL CERTIFICATIONS
1. None.

OTHERS

1. Letter from Tilteco, Inc., dated February 24, 2000, signed and sealed by Walter A.
Tillit Jr., P.E., stating that he is still the engineer of record for this product and
manufacturer and continues to be in the engineering business.

@elmy A. Makar, P.E., M.S.
Product Control Examiner
NOA No. 08-0611.02
Expiration Date: 06/26/2013
Approval Date: 07/31/2008

(A



Atrium Shutters, Inc.

> =

> >

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #03-0521.07

DRAWINGS

1. Drawing No. 03-095, titled “ 20 gage Storm Panel ”, sheets 1 through 16 of 16,
including sheet 114, total of 17 sheets, prepared by Tilteco, Inc., dated May 15, 2003,
last revision #1 dated May 15, 2003, signed and sealed by Walter A. Tillit Jr., P.E.

TESTS
1 None.

CALCULATIONS
L Anchor analysis, 2 Pages, prepared by Tilteco, Inc., dated July 30, 2001, signed and
sealed by Walter A. Tillit Jr., P.E.

MATERIAL CERTIFICATIONS
1. None.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #05-0927.01
DRAWINGS

Drawing No. 05-289, titled 0.039” Galvanized Steel Storm Panel, sheets 1 through 16 of
16, and sheets 14, 114, & 124 of 16, prepared by Tilteco, Inc., dated 09/15/2005, last
revision #1 dated 09/15/20035, signed and sealed by Walter A. Tillit Jr., P.E.

TESTS

None.

CALCULATIONS

Anchor calculations prepared by Tilteco, Inc., dated September 15, 2005, sheets 1
through 85 of 85, signed and sealed by Walter A. Tillit Jr., P.E.

QUALITY ASSURANCE
By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS
None.

Wl P Al

H?T‘my A. Makar, P.E., M.S.
Product Control Examiner
NOA No. 08-0611.02
Expiration Date: 06/26/2013
Approval Date: 07/31/2008




Atrium Shutters, Inc.

&

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

NEW EVIDENCE SUBMITTED

DRAWINGS

1. Drawing No. 08-169, titled 0.039" Galvanized Steel Storm Panel, sheets 1 through 16 of
16, and sheets 14, 114, & 124 of 16, prepared by Tilteco, Inc., dated 05/22/2008, last
revision #1 dated 05/22/2008, signed and sealed by Walter A. Tillit Jr., P.E,

TESTS
1. - None.

CALCULATIONS
1 None.

QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS
1 Norne.

He A ALt~

Hélmy A. Makar, P.E., M.S.,
Product Control Examiner
NOA No. 08-0611.02
Expiration Date: 06/26/2013
Approval Date: 07/31/2008




GENER

1. STORM PANEL SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN

NOTES: VALID FOR 0.039” GALVANI TEEL ST P

ACCORDANCE WITH THE 2004 EDITION OF THE FLORIDA BUILDING CODE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE.

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.A.D. AS TESTED WERE NOT OVER STRESSED, A 33%
INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. A DURATION FACTOR CD=1.60 WAS
USED FOR VERIFICATION OF FASTENERS IN WOOD.

STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION
1809.1.4 OF THE ABOVE MENTIONED CODE AS PER HURRICANE ENGINEERING & TESTING INC. REPORTS 96-569, 96-570

& 96-T30 AND FENESTRATION TESTING LAB. INC., REPORTS #2032 & #2126 , AS PROTOCOLS TAS—201, TAS—202 AND
TAS--203.

« ALL ALUMINUM EXTRUSIONS TO BE 6063-T6 ALLOY AND TEMPER. (UNLESS OTHERWISE NOTED)
« ALL ALUMINUM SHEET METAL USED AT CLOSURES SHALL HAVE 3105—H14 ALLOY.

- ALL STEEL SHEET METAL PANELS SHALL HAVE STRUCTURAL QUALITY STEEL, ASTM A—653 GRADE 40 MINIMUM, G-60
GALVANIZED STEEL DESIGNATION W/FY= 42.9 ksi (AFTER ROLLED).

- ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AISI SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER
DIN 50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH.

. BOLTS TO BE ASTM A-307 GALVANIZED STEEL, OR AISI 304 SERIES STAINLESS STEEL, WITH 36 ksi MINIMUM YIELD
STRENGTH.

. ANCHORS TO WALL SHALL BE AS FOLLOWS:
(A) TO EXISTING POURED CONCRETE:
— 1/4” ¢ TAPCON ANCHORS AS MANUFACTURED BY . T. W. BUILDEX OR ELCO TEXTRON.
— 1/4" ¢ CF TAP-GRIP ANCHORS, AS MANUFACTURED BY TRU—FAST CORPORATION.
~ 1/4" ¢ x 7/8" CALK~IN ANCHORS OR ELCO male/female PANELMATES AS MANUFACTURED BY POWERS FASTENERS
INC. AND ELCO TEXTRON, RESPECTIVELY.

NOTES:
A.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE SHALL BE f 3/4", 1 7/8" FOR ELCO

PANELMATES AND FOR CF TAP-GRIP ANCHORS S 1 1/4".

A.2) 7/8" CALK~IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NO EMBEDMENT INTO
STUCCO SHALL BE PERMITTED. 1/4” $-20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO
EXIST, AND 1" MINIMUM FOR WALLS WITH NO STUCCO, AND MAY BE HEADED SCREWS OR ALL THREADED SCREWS
W/0 HEAD, BUT WITH WING NUTS.

A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, PAVERS, STUCCO OR WOOD BANS BE FOUND ON THE
EXISTING WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH

PANELS. ANCHORAGE SHALL BE AS MENTIONED IN A1) AND IN A.2).

(B) TO EXISTING CONCRETE BLOCK WALL:
— 1/4" @ TAPCON ANCHORS, AS MANUFACTURED BY I. T. W. BUILDEX OR ELCO TEXTRON.
— 1/4" ¢ CF TAP-GRIP ANCHORS, AS MANUFACTURED BY TRU—FAST CORPORATION.
— 1/4" 8 x 7/8" CALK—IN ANCHORS OR ELCO male/female PANELMATES AS MANUFACTURED BY POWERS FASTENERS
INC. AND ELCO TEXTRON, RESPECTIVELY.

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS, ELCO PANELMATES AND CF TAP—GRIP, INTO THE CONCRETE BLOCK

UNIT SHALL BE 1 1/4"

B.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO EMBEDMENT INTO
STUCCO SHALL BE PERMITTED. 1/4” #—20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO
EXIST, AND 1" MINIMUM FOR WALLS WITH NO STUCCO, AND MAY BE HEADED SCREWS OR ALL THREADED SCREWS
W/0 HEAD, BUT WITH WING NUTS.

B.3) IN CASE THAT PRECAST STONE, OR PRECAST CONCRETE PANELS, STUCCO OR WOOD BANS BE FOUND ON THE
EXISTING WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.

ANCHORAGE SHALL BE AS MENTIONED IN B.1) AND IN B.2).

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S
MANUFACTURER.

8. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTION 1, 2, 2A (BUT ONLY

W/ STUDDED ANGLE & EA. SIDE) AND 3, 4, 5, 6 & 7 ON SHEET 3 & 4 OF 16, EXCEPT THAT STUDDED ANGLE
@ SHALL BE USED INSTEAD ON CEILING HEADER .

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS

10.

1.

12.

TO BE ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR
WOOD FRAME BUILDINGS.

EACH PANEL WITH LENGTHS OVER 104" SHALL HAVE A LEGIBLE AND READILY VISIBLE MARKING INSTRUCTING OWNER OR
TENANT TO SECURE PANELS WITH APPLICABLE REINFORCEMENT DURING PERIODS OF HURRICANE WARNING.

THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS
CONTACT WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL
LENGTH.

STORM PANEL INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING
REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT iS APPLIED TO.

. (a) THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE

INFORMATION FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.A.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS
PRODUCT BASED ON THIS P.A.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS
DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

(c) THIS PRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL
BECOME THE ENGINEER OF RECORD (E.Q.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER
USE OF THE P.A.D. ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.A.D. ENGINEER, SHALL
SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

(e) THIS P.AD. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD
THAT PREPARED IT.

. SHUTTER MANUFACTURER’S LABEL SHALL BE PLACED ON A READILY AND VISIBLE LOCATION AT PANEL. ONE LABEL SHALL

BE PLACED FOR EVERY PANEL.

LABEL SHALL READ AS FOLLOWS:

ATRIUM SHUTTERS, INC.

DAVIE, FL.

MIAMI—DADE COUNTY PRODUCT CONTROL APPROVED.

PRODUCT RENEWED
a5 complying with the Florida

Baiding Code

Aceeptance N0 OL-06 )/ .02

Explmﬂmnateb_gZZZééo}g

gﬁs@ﬁw\
i iict Contrel

Divislon

F.B.C. (High Velocity Hurricane Zona)

©2008 TILTECO, INC. L.G./R.E.
0.039" GALVANIZED STEEL STORM PANEL DRAWN BY:
ATRIUM SHUTTERS, INC e
iLlEco » INC.
INC. 4800 S.W. 51 STREET
. TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 08—169
e SN 8355 N.W. J6th, St, Ste. J05, VIRGINIA GARDENS, Fl. 33166 PHONE: (954)689—-7545, FAX: (954)689-8797
oo e N Phone : (305) 871-1530 . Fox : (305) 871-1531 — prev o T v r— Y DRAWING No
g EB-0006719 - Ko PTioN d pesce
AV O WALTER A, TILLT Jr.,, P.E. : 010 05-289  fos/22/08] 8 - -
i ; ) r., P.E.
MAY 270 2008 FLORIDA Lic, # 44167 z - . - __|SHEET 1 OoF 16




15.125” (TOTAL WIDTH)

1.350" 1.350"

6‘& 1.350” 1.350"
SNIT T
N

/\
)
-y

PANEL'S END LIP
W/ CRIMPED EDGE.

0.039"
(Min.)
GALVANIZED
48.8' STEEL

|

+0.090"

12.500" (EFFECTIVE WIDTH)

(@ _PANEL

SCALE: 3/8" = 1” B

COMPONENTS ISOMET. EW

rd
rd
rd
/
| 0.039" /
(Min.) II
GALVANIZED STEEL I
\
@» END PANEL \
SCALE: 3/8" = 1" \\
\
3 CONCRETE ANCHORS 3 RN .
ﬁ'Max. (SEE SCHEDULE ON SHEET 6 & 7 OF 16) Max. S\W/ CRIMPED EDGE. id
17 Min, /2 17 Min. Y -7
o o (- o \\~§§___-—____——”
R _‘?/ 1/ D
pa DETAIL B
ROUNDED CORNER @ ENDS OF PANEL’S
/ END LIP W/ CRIMPED EDGE.
A A £0 (N.T.5.)
Y ~ A
N L1
_——~——-7L7Z’4\1j’
T PRODUCT RENEWED
° © I—t—1—BOLTED PANELS W/~ a8 complying with the Florida
gheouey s Pz v :
SHEET 5 OF 16) 7/8"%3/32" WINGNUTS ©
EA. OVERLAP (SEE SCHEDULE
| | / QN SHEET 6 OF 16)
4% / A
/\/ ‘V A EQ
S
;'@ ) < & ol & o @] o & o Y ;
" / CONCRETE ANCHORS . , \ .
2 TSEE SCTEDULE O SHEET 6 & 7 OF 15) 2 F.B.C. (High Velocity Hurricane Zone)
1 Min, 1" Min. ©2008 TILTECO, INC. » LG./R.E.
’ 0.039" GALVANIZED STEEL STORM FANEL ,
STORM PANEL ELEVATION scac 1/4" = 1” DRAWN BY:
" 05/22/08
N 1/ Mox. 6o /4" Mox. GAP / TiLlEco e \ ATRIUM SHUTTERS, INC. ok
INC. 4800 5.W. 51 STREET
N N 77> 77N DAVEE, FL. 33314
N NV N— N e S oras . e ’Q’,_f’s,‘f J%\./GJIRNGglﬁARIgRGDEA%.O%.P A PHONE: (954)689-7545, FAX: (954)689-8797 08-169
¢ e o Phone : (305) 871-1530 . Fox : (305) 871-15831 — pre— T o | 7v prrT— e DRAWING No
— ” » ) s EB-0006719 d —
_S_________ECTI ON _A—-A scur 1/8" = 1 MAY 2 ¢ 2008 WALTER A. TILLIT Jr., P.E. 1 ol ps-269  los/2z/08 8 = = SHEET 1A OF 16
< FLORIDA Lic. # 44167 2 - | N = =




2.187" 125"
o 2.187" —»T.725" . 125"
. . T 1/470 S.S. STUD
| S 1/4" 8 S.S. STUD ~T.750 750" RIVETED TO ANGLE
} S . RIVETED TO ANGLE 1_4—1_ @ 12 1/2" o.C.
Y " R ] @ 12 1/2" o.C.
- J R 20 S i S %
N 507 n ) - ) \n o -
S 250 : £ . B SEE ] =
X = . | DETAIL 1 o
o ) 093" ) | —
5 . 093" . 8
" 3 in " €
093 = S % R0 " 5" Max. L—1.500" ——1.500"
c o NN .250"——-—\§—t
20—\ ] 7 \ (@ ANGLE @d ANGLE WITH STUD 4B ANGLE WITH
3, ~| 30" . L ” ” ”
» \/ FU{L)R. 2.000" 3 SCALE: 1/2 1 SCALE: 1/2" = 1 EEEERSED STUD
J ~{30 SCALE: 1/2" = 1"
FULl’ R, 2.000"
@ _h” HEADER @ _"U"_HEADER
SCALE: 1/2" = 1” SCALE: 1/2" = 1” I; ?EI‘Z"EEET
o V111 & 2/
: 374" — . \
8 B L . o
2.344" K 88 S R 3 "
7 | ' 125 5/16"0 HOLE FOR
r / - " 750" STUD LOCATION AT
f ! RI\%;Eg %3 A%LL/Q ‘ EVERY PANEL OVERLAP
g 2 4
S 8 L =4 } ® 12 1/2" oc—.
AN 5% e — roer & &
[ T T3 o 8 : — .
» hnd Q [»]
N—2.625" . 1 L RO.125 | J__ 3 S
. 3 ’ — N
~.957" = - 2.000" Min. 15" LONG
t = Min. .085
® KEY HOLE WASHER © _F’ TRACK ANGLE (?) FLAT PLATE WITH STUD
3105-H154 Alum. ALLOY SCALE : 1/2" = 1* /2" = 17
SCALE: 1/2" = 17 /. SCALE: 1/2" = 1
2
N
094" ]
063" :
PRODUCT RENEWED
cALvazED Site ! s comyiying with tho Fiodtda
) COMPONENTS By ot 0401
N l 2.000" Expiration Date z6/20]13
®
L « S
& % 3 By
R LI 3R 2"%7"%1 /4" ALUMINUM ANGLE i Deacs
—-—’ ’ SCALE : 1/2" = 1* Division
i l
.063"
.1875"
125"

DETAIL 1

F.B.C. (High Velocity Hurricane Zone)
SCALE: 2" = 1" 2008 TLTECO, NG 0.039” GALVANIZED STEEL STORM PANEL| jmor®s
* ALTERNATIVELY, USE WING NUT w/ouTt

DRAWN BY:
MONOLITHIC WASHER W/ ADDITIONAL

05/22/08
; ) ATRIUM SHUTTERS, INC. DATE:
e e / TILIEC O me. \ '

4800 S.W. 51 STREET

TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 -
— g 6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, FI. .!1.!166 PHONE: (954)689—-7545, FAX: (954)689-8797 08—-169
‘..‘_,_:_‘;)“ Pk ;“,)*N‘C‘? e *\«\ FPhone : (JD5) B7£1_;7332 bsF;);g. (305) 871-153 o preT— ' — ™ e ETOn e DRAWING No
MA%’ 2 Y 2@@8 " WALTER A. TILLIT Jr., P.E. ! 00 05-209  los/22/08| B = —— sHEET 2 OF 18
FLORIDA Lic. # 44167 2 Z = ; - —




CONCRETE ANCHORS
(SEE SCHEDULE ON

E. D: 1/4"9-20 S5.5. BOLTS (SEE SCHEDULE 1/4.¢—2”0 5.8, gOLTS
4 g W/ 7/8"8x3/32" WING
SHEET 6 & 7 OF 16) POURED CONCRETE ANCHORS AN e %%ﬁ%ywc ON SHEET 6 & 7 OF 16) . s ,ﬂo/xz 7%
CONCRETE L (SEE SCHEDULE ON S SMS @ 6" ocC. S SMS. © 6" 0.C
REQUIRED Ty SHEET 6 & 7 OF 16) _\ b 1 Min. POURED CONCRETE 9 1" Min.
% BN g REQUIRED H
g N\ =
POURED =
CONCRETE Cont. T r
REQUIRED j I ' ' l
|
t
Cont. POURED © ©
- ) CONCRETE = 4 : \\1@ Cont. N e
= REQUIRED
t \ Q [s]
[
. : ? | s [~7/8"8x3/32" WING © \7/8"¢x.3/32' ©
| N © \ NUT @ EVERY STUD & WNG NOT® &
: 5 & e 12 1/2" o.c. [ EVERY STUD W
(SEE_SCHEDULE | o (SEE SCHEDULE | ] ; 5 @12 1/2° 0. &
ON SHEET 6 OF 16) | N —| ON SHEET 6 OF 18) 1l : 5 | z 2
in. in. t S
FOR Min. SEPARATION | g FOR Min. SEPARATION ] - j S (SEE SCHEDULE
TO GLASS. i P TO GLASS. i ! S (SEE SCHEDULE i Y ON SHEET 6 OF 16) I Yy
S ! S — For i, SerapaTioN |~ 8 B ¥ v St -——@ 8
in. | 1 ’
A A W | 8 TO GLASS. i i 5 { : I I
\ 3 H i 5 | i | A i | i ]
A | vV 3 I | o i ! ! " | ] | W
' 3 % A— ty | ,{, | a : /\'\/r j\\,’ . &
Q T " )l ~ T " n
8 | : : | | g |
' t -
& ! Y | i ! o ! ! | 7/8%x3/32"
] ]
: : y } L g , - (Eeire
! g ] ¥ i i | wine NUT @ & ! e 12 1/2* o.c. &
. & | 1 “ . | .C.
! o { g ! , 12 1/2"0C % i L X
! g 7/80x3/32" WiNG & | A = : 3
! ) - - NUT @ EVERY STuD = ! : 2 o ! o
3 I T erzi2oc b a | ! h S
A L N
/® u Cont E | POURED CONCRETE -
POURED CONCRETE t - I OR CONCRETE \ oo POURED CONCRETE 1
OR CONCRETE I BLOCK WALL 1 ] f OR_CONCRETE -
BLOCK WALL . | REQUIRED LAl Cont. BLOCK WALL e
REQUIRED I %’ / EDGE OF — =i REQUIRED —AZ W T ey I
_:_‘"—-7’ ! POURED u %H coo’levoi%%) .8 l 17 Min. .8
SP=7 I P CONCRETE - ° 1/40-20 S90S ° 1/4°9-20 S.S. BOLTS
8 / P | REQUIRED / CONCRETE ANCHORS Wy 7803752 YiNio CONCRETE ANCHORS R R
' L 750" (SEF_SCHEDULE S S S 6 % 7 oF 16) NUT OR #10x3/4”
/ CONCRETE ANCHORS ON SHEET 6 & 7 OF 16) cont, e Cont. S.MS. @ 6" O.C.
CONCRETE ANCHORS S/ Cont. (SEE' SCHEDULE ON £ D
'SEE SCHEDULE ON SHEET 6 & 7 OF 16) -
(
SHEET 6 & 7 0F 16) or Cont. C D FLOOR MOUNT. INSTALLAT. UILD OUT MOUNTING INSTALLATION TE BUILD—QUT MOUNT. INSTALIAT.

SECTION_@ ANCHOR

CONCRETE ANCHORS
(SEE SCHEDULE ON
SHEET 6 & 7 OF 16)

Cont,

CONCRETE ANCHORS

— SECTION 2

SCALE: 3/8" = 1"

Cont,

— SECTION 3

SCALE: 3/8" = 1”

— SECTION 4

SCALE: 3/8" = 1"

A %
YT Y
I i "2\
(SEE SCHEDULE | | B M
_|ON SHEET 6 OF 16) ! [§] =
FOR Min. SEPARATION| | & (SEE SCHEDULE | Zle £ D. = EDGE D’STM['JCE oN
TO GLASS. i | i zle _NoN sHeeT & oF 16) [ , I (SEE SCHEDULE
! ! 9] FOR Min. SEPARATION ! gly SHEET & OF 16)
, g m TO GLASS. =13
/ /| ! i B
s o HE Sy PRODUCT RENEWED
‘ ' Sy 813 NCTE FOR COMBINATION OF SECTIONS. : s complying with the Flovids
i | S[R3 7/8%0x3/32" WING NI Buiding Code
! e NUT @ EvErY sTUD |3 MOUNTING SHOWN ON SECTIONS 1 THROUGH 4 Acsepianee Mo
S Cont. @ 12 1/2" 0.C. CAN BE COMBINED IN ANY WAY TO SUIT ANY ion Date O
POURED CONCRETE - | 7/8"0x3/32" WING o 1 21 i INSTALLATION. Explrption Bate
OR CONCRETE I ~NUT @ EVERY STUD v — >~
BLOCK WALL i ! @ 12 1/2" 0. o E By
REQUIRED o
i
! . f . Division
|
EDGE OF
- ' | WALL OR SLAB . ) .
~—— @ . (Alt. CONOITION) F.B.C. (High Velocity Hurricane Zone)
Cont. POURED
CONCRETE .750" / ©2008 TILTECO, INC. ” D STEEL STORM PANEL L.6./R.E.
REQUIRED 0.039 GAL VAN/ZE E DRAWN BY:
OR Cont. X E. D. oy
CONCRETE ANCHORS 05/22/08
SECTION @ STUD (SEE SCHEDULE ON I lE co ATRIUM SHUTTERS, INC. DATE:
SHEET 6 & 7 OF 16) IL INC. 4800 S.W. 51 STREET
MPANY DAVIE, FL. 33314 _
. MOUNTING INSTALLATION FLOOR MOUNTING T Rl i Ga;?shr ’é::..ase".f aﬁgcuflﬁlc%ig%%?% 16 PHONE: (954)689-7545, FAX: (954)689-8797 08—1 6/\9/
Phene : (305) 871-1530 . Fox : (305) 871- DRAWING No
” p A SCRIPTION DATE
- E ON 1 . Y= 1" — gd SCALE: 3/8” = 1" ™ EB-0006719 REV. No DESCRIFTION | DATE | REV. Mo (3
SCALE: 3/8 ! SECTION / D WALTER A. TILLIT Jr., P.E. 1 o 05-289  los/ez/o8| @ - = sweer 3 oF 16
FLORIDA Lic, # 44167 2 - L =1 = s




CALK—IN OR ELCO
mals/fermale ‘FANELMATE”
OR CF TAP-GRIP

(SEE SCHEDULE

ON SHEET 6 & 7 OF 16) \

CONCRETE ANCHORS
(SEE SCHEDULE ON

SHEET 6 & 7 OF 16

POURED CONCRETE
REQUIRED

5[\ '
{

N L

POURED CONCRETE

OR CONCRETE _\

BLOCK WALL

REQUIRED

N

1/4"6-20x1" M.S.
W/ NUT @ EVERY
OVERLAP & AT
MIDLENGTH OF
PANEL FOR

SECTION 6 ONLY. —}

v

A =

l\, |
l\/ AIV
(SEE SCHEDULE
ON SHEET 6 OF 16)
FOR Min. SEPARATION
| TO GLASS.
I
|

/ S
]

POURED CONCRETE
OR CONCRETE
BLOCK WALL
REQUIRED

————

—®

L—.500"

1/4"8-20x3/4" S.S.
BOLTS w 7/8 axJ/Jz"
WING NUT €& 6"

" 17 Min;
— o
Q3
ﬁ.;l

Cont.

Cont.

"L” Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 6 OF 16)

FO

o

(SEE SCHEDULE

I ON SHEET 6 OF 16)

R Min. SEFARATION
TO GLASS.

-1, 750" }—

I

il
NN

POURED CONCRETE

Q
[

<x <

"L" Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 6 OF 16)

7/8"0x3/32"
WING NUT ©
EVERY STUD
® 12 1/2° o.C.

3508‘3”5555 1 m METAL Alum. BENT PLATE
OR 18 GAGE GALVANIZED
: REQUIRED L= STEEL.
( / T .750"
CAL/K;/N OR ELCO § 1" Min—
male/female "PANELMATE" CONCRETE ANCHORS ’ 1/4'6-20x3/4" S.S. gs > Q CE! n ’
OR CF TAP-GRIP (SEE SCHEDULE ON BéLTS W/ 7//8 9XJ/32 C E a
(SEE SCHEDULE SNEET 6 4 7 OF 18 WING NUT & 6 . ..
ON SHEET 6 & 7 OF 16) Cont. SCALE: 1/4" = 1
POURED CONCRETE
ALL MOUNTING INST. 10 |1/ MOUN: T o0k WAL
BLOCK WALL
D M 0 5 REQUIRED
SCALE: 3/8" = 1" SCALE: 3/8" = 1" XNEW 1" WIDE x VARES x I
1/8" THICK Alum. TUBE
¢ ! Or 1" x P. T. W
EDGE OF WOOD PLATE SPACERS i
- EXISTING OPENNING ’
E. D. = EDGE DISTANCE E’Xﬁé’ NG STuGCo/Mo0D
(SEE SCHEDULE ON S
SHEET 6 OF 16) . A * NEW 1" WIDE x VARIES x 1/8" s
o RS B > Alum. TUBE OR 1" x VARIES
) @ P. T. WOOD PLATE SPACER  CONCRETE ANCHORS
u . & BEHIND TRACK (SEE SCHEDULE ON TRACK Cont.
- T SHEET 6 & 7 OF 16)
&P { <_I_> 14 : SCALE: 1/4" =
\/ POURED CONCRETE
t o __._._—"'='

NQTE. FOR_COMBINATION OF SECTIONS :

MOUNTINGS SHOWN ON SECTIONS 5
THROUGH 7 CAN BE COMBINED IN ANY
WAY TO SUIT ANY INSTALLATION.

’: CONCRETE ANCHORS

(SEE SCHEDULE

1 1/2" M

ON SHEET 6 & 7 OF 16) 3"

NS

=

Max.

JRACK Cont.

@ CUT END PANEL

o

POURED CONCRETE

OR CONCRETE

BLOCK WALL
REQUIRED

@ 12" 0.C.

2"%4°%. 125" 3105-H14
OR 6063-T6 ALLOY
Cont, Alum. ANGLE

2"%2"%.055" TO 2"x5'%.055"
Cont. Alum. ANGLE OR
.080" 3105~H154 SHEET

CASE A (ﬂan)

SCALE: 1/4" = 1"

POURED CONCRETE OR

CONCRETE BLOCK WALL \
REOU/RED—\\

2" Min.
CONCRETE P M,.,S_
ANCHORS "
@ 12" o.cC. N

ALTERNATE LEG LOCATION

il
OTZ " Min.

END CLOSURES DETAILS

CALK—IN OR ELCO male/female

"PANELMATE” (SEE SCHEDULE
ON SHEET 6 & 7 OF 16)

\

CONCRETE ANCHORS

—2" Max.—

|
|
i i
‘.
|

POURED CONCRETE b
OR CONCRETE
BLOCK WALL
REQUIRED

1/4° BOLT @  4°%x4’%.093" 3105-H14 OR
24" 0.C. W/ 6063-T6 ALLOY Cont. Alum.

CASE B (Plan) 7/8%0x3/32" ANGLE OR 18 GAGE Galv.
WING NUT STEEL ANGLE

SCALE: 1/4" = 1*

EXISTING TRIM AT TOP, BOTTOM OR
SIDES OF OPENING AS liIrPLICABLE

2"%3%.093" 3105 H-14 OR
6063~T6 ALLOY Cont. Alum.
ANGLE WITH ANCHORS AT 12" O.C.

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED.

CASE D (Plan

SCALE: 1/4* = 1"

R
CONCRETE BLOCK WALL
REQUIRED

SECTION X —_X
L S S _REQUIRED AT TOP OR
TO. JACENT TO STUCCO/WOO. S soue 1/

* Max. SPACER LENGTH IS 6"
Min. SPACER HEIGHT TO BE
EQUAL OR GREATER THAN
TRACK'S HEIGHT.

1

I /

N ar Lo o

WA 2 o8 [

PANEL INSTALLATION AT WALLS W/ SURFACE LEVEL

OR @ BENT W/ ANCHORED

(NEVER CUT END PANEL)

CASE E ‘ZE 1&;2) VALID FOR DIRECT MOUNT INSTALLATION ONLY & CERTIFIED
1

VARIATIONS WITHIN 3/4"

A
il

PRODUCT RENEWED

a8 commplying with tae Floride
Buoidicg Code

Ammﬁzm: NﬁOg- 0b)l-0T

FRONT & REAR FLAT
FLANGES PARALLEL
TO WALL.

F.B.C. (High Velocity Hurricane Zone)

®2008 TILTECO, INC.

/TiLTEC O me \

Phone :

WALTER A TILLIT Jr.,
FLORIDA Lic. # 44167

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, Fl. 33166
(305) 871~1530 . Fox :

EB-0006719

(305) 8711531

P.E. !

” L.6./R.E.
0.039" GALVANIZED STEEL STORM PANEL DRAW? oy
05/22/08
ATRIUM SHUTTERS, INC. DATE:
w5, g
PHONE: (954)689—7545, FAX: (954)689-8797 08—-169
REY. No DESCRIPTION DATE REV, No DESCRIPTION DATE DRAWING No
: D o520 E - - ~—{ SHEET 4 OF 16




SEE SECTIONS 1, 3 & 4
ON SHEET 3 OF 16

CONCRETE ANCHORS
(SEE SCHEDULE ON
SHEET 6 & 7 OF 16)

POURED
CONCRETE
REQUIRED
q
uj

(SEE SCHEDULE
| ON SHEET 6 OF 16)
FOR Min. SEPARATION
TO EXISTING GLASS

-

e

Cont.

e

[

W/ #14x3/4"
S.5. S.M.S.
@ 6" 0C.

Max.

—

WINDOW OR S.G.D.

i
|
|
EDGE OF EXISTING :
(
(
i

— L.ZSG'

POQURED CONCRETE / Ly =
OR !

CONCRETE BLOCK WALL
REQUIRED

CONCRETE ANCHORS
(SEE SCHEDULE N
ON SHEET 6 & 7 OF 16)  ~w

W AND FL.OOR MOUNTING INS.
SPLIT PANELS — SECTION 1

NOTE: MULLION CAN ALSO BE INSTALLED W/0 STORM PANELS ON TOP
OR BOTTOM SO THAT IT IS LOCATED AT TOP OR BOTTOM OF OPENING.,

6 | LENGTH & DESIGN PRESSURE RATING
P OF +55.0 p.s.f., —72.0 p.s.f.
(3)1/40 THRU BOLTS . CONCRETE ANCHORS (SEE SCHEDULE ON
X W/ WASHER & NUT. i SHEET 6 & 7 OF 16) o
/ 2%2"%1,/4"%0'~6" 2%2%1/4%0'-6" 17, 1 1% Min.
' I /(1/um. ANGLE ) Mr" — gzrg& ATAéciLoy)
1 6063—T6 ALLOY, ax, ~
T T | —— (Typ. TOP & BOTTOM) —— (Typ. TOP & BOTTOM) ° 2 2
T [ el B A B e e A 1 R e A A
______ 11 | 3 MULLION
. MULLION
L i’ - (3)1/4" THRU BOLTS o A
- (. i — W/ WASHER & NUT. ) )
o (2) 3/8" POWER BOLTS === v
r Il ANCHOR W/ 2" Min. - ) 3
--------------- PENETRATION INTO e (2) 3/8" POWER BOLTS
B CONCRETE OR GROUT N___ANCHOR W/ 2" Min. A/l A1
e FILLED BLOCK PENETRATION INTO g
e CONCRETE OR GROUT =4
FILLED BLOCK
45 x|
A A
1 4
LELEVATION ! -
SECTION X-X EmUgE=STS T
e N -1 ~
SCALE: 1/4” = 1" ) P ’ NEEEN 1R R O O I T O O A O N
SCALE 1/4 = 1 // [ [ l \\ ° _9 ° é \\

STORM PANEL W/5'-0" Max. PANEL A P t o AN o
AL S MULLION * (SEE SCHEDULE ON THIS SHEET, . &
LENGTH & DESIGN PRESSURE RATING SEE DETALL 1 B LA (st e ) / \
OF +55.0 p.s.f., —72.0 p.s.f. // 1] 1 |4 p
STORM PANEL W/8'-0" Max. PANEL
LENGTH & DESIEN PRESSURE RATING — | . DETALL 2
OF +55.0 p.s.f.,, =72.D p.s.f. Y
MULLION — 6063—T6 ALLOY i A
(SEE SCHEDULE ON THIS SHEET) ¢ Y
(2) 3/8"% POWER BOLTS .
ANCHOR W/ 2" Min. 6
PENETRATION INTO - 3" -
14x3/4" CONCRETE OR GROUT 4.500
@ 1w o oc Y[ FILLED BLOCK l— ~
atnin &} \ A
STORM PANEL W/8'—-0" Max. PANEL 1 5 (3) 1/4"8 THRU BOLTS o drh oh A A
LENGTH & DESIGN PRESSURE RATING —  |b—operee—e— 5 ——— W/ WASHER & NUT. v A/.Z
OF +55.0 p.s.f, —72.0 p.s.f. /— LN A/l
=~ | ;/ " =/ ) BIRERINEEENENE] =
2"%2"%1/4"%x0'~6" [ lel "o ° o o o &
e E= Alum! ANGLE \\ — -~ | Le 2 =1/
(6063—-T6 ALLOY) 500 "1 —.500 b 5 » oans
SEE SECTIONS 2 & 2A é::j (Typ. TOP & BOTTOM) e 4T 8 Max. MULLION SPAN
ON SHEET 3 OF 16 Y| N 1 I]IP
SPLIT STORM PANEL ELEVATION scac 1/8" = 1"
EDGE OF WALL
ELEVATION SECTION Y-Y (IF APPLIGABLE)

EDGE OF

| WALL OR SLAB

(Alt.” CONDITION,)

’
\§ ~ew. POURED CONCRETE
REQUIRED

CONCRETE ANCHORS
(SEE SCHEDULE
ON SHEET 6 & 7 OF 16)

DETAIL 1

SCALE: 1/4" = 1"

STORM PANEL W/5'-0" Max. PANEL

[}
!
i

-y

T m gt g e g e
N e 0| /|
N 7/

N N A Y
11T T

SCALE: 1/4" = 1”

DETAIL 2

MULLION SCHEDULE

(ONE PANEL OPENING W/ TUBE TOP & BOTIOM)

STORM PANEL W/8'-8" Max. PANEL
LENGTH & DESIGN PRESSURE RATING
OF +55.0 p.s.f., ~72.0 p.s.f,

SEE SECTIONS 1, 3, & 4
ON SHEET 3 OF 16

ON FOR

SCALE: 3/8" = 1"

Max. MULLION REQUIRED Min.
SPAN (Ft.) * TUBE MULLION **

< 4'-6" 2" x 3" x 1/8"
> 4'-6" T0 5'-8" "x 4" x 1/8"
' on » g pn 2" x 5" x 1/8"
>.5'-8" 10 610 2" x 4" x 1/4"
> 6'-10" 10 8-0" 2" x 6" x 1/8"

* SPANS VALID FOR DESIGN PRESSURE RATING LOADS OF
+55.0 p.s.f., —72.0 p.s.f.

** MINIMUM TUBE'S DIMENSION SHALL BE ORIENTED PARALIEESr—essdiz s

TO STORM PANEL’S LENGTH.

S
RAAY O N D
NI YRRV r@ﬁﬁ’““

PRODUCT RENEWED
25 complying with ithe Mlozida
Baoiding Code

Acceptanee Mg Og’ (2] 0l
Expiration Date 12

Division

F.B.C. (High Velocity Hurricane Zone)

©®2008 TILTECO, INC.

llLIECOmc.

FILLIT TESTING & ENGINEERING COMPANY
6355 N.W. J6th. St, Ste. 305, VIRGINIA GARDENS, Fl. 33166
Phone : (305) 8711530 . Fox : (305) 871-1531
EB~-0006719
WALTER A. TILLIT Jr., P.E.

FLORIDA Lic. # 44167

0.039" GALVANIZED STEEL STORM PANEL| or®%
/22/08
ATRIUM SHUTTERS, INC.
L
PHONE: (954)669—%54;,. FAX: (954)689-8797 08—169
DRAWING No

DESCRIPTION DATE REY. No DESCRIPTION

OLD 05--289 lo5/22/08] 3 -

SHEET 5 OF 16

- - 4 -




L

ULE

(VALID ONLY FOR PANEL INSTALLATIONS AS PER SECTIONS 1 THRU 7. QN SHEEIS 3 & 4 OF 16)

MAXIMUM DESIGN Max. PANEL LENGTH APPLICABLE TO SECTIONS
PRESSURE RATING L (r. M""’M‘;‘g gf:gg”’o"’ a c;’;}[’;’%cw # AND ANY COMBINATION

W (p.s.f.) (SEE SECTIONS) OF THEM
+55.5, —72.0 7'-5" OR LESS 2 1/4" UNBOLTED 1 THRU 5 & 7
+55.5, -72.0 >7'-5" 10 8'-8" Max. 2 3/4" UNBOLTED 1 THRU 5 & 7
+55.0, =72.0 |>8'-8" T0 11'=2" Mox. 2 12" * BOLEDOCERﬂgLSENGW P

* BOLTED W/ 1/4"¢-20x1" S.S. M.S. & WINGNUT AT OVERLAP & MIDLENGTH OF PANEL.

(VALID ONLY FOR PANEL INSTALIATIONS AS PER SECTIONS 1 THRU 7. ON SHEETS 3 & 4 OF 16)

MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2" #* APPLICABLE TO
MAXIMUM SECTIONS # & MAXIMUM PANEL
DEus;/c?NsL’ng TAPCONS CF TAP-GRIP CALK~IN PANELMATES ANY COMBINATION LENGTH "L* (ft,)
prsit TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE| TO MASONRY OF THEM
6" N/A N/A N/A 6" N/A 6" N/A 1 (TOP)
6" 6" N/A N/A 6" 6" 6” 6" 1 (BOTTOM)
6" N/A N/A N/A 6" N/A 6" N/A 2 (ToP)
6" N/A N/A N/A 6" N/A 5" N/A 2 (BOTTOM)
+55.5, =72.0 6" N/A N/A N/A 6" N/A 6” N/A 3 (TOP) 7'-5" OR LESS
6" 6" N/A N/A 6" 6" 6" 6" 3 (BOTTOM)
6" N/A N/A N/A 6" N/A 6" N/A 4 & 7 (TOP)
6" 6" N/A N/A 6" 6" 6" 6" 4 & 7 (BOTTOM)
N/A N/A 6 1/4" 6 1/4” 12 1/2" 6 1/4” 6 1/4” 6 1/4” 5 (TOP/BOTTOM)
— SEE SHEET 8 & 9 OF 16 FOR ANCHORS TYPE & SPACING FOR PROBUCT RENEWED
INSTALLATIONS INTO WOOD FRAME BUILDINGS. ANCHORS LEGEND 8 complying with the Mevida
Buiding Code
ANCHOR E D. = EDGE DISTANCE
K MAXIMUM ANCHOR SPACINGS ARE VALID FOR ANCHORS MIN.
3 1/2" EDGE DISTANCE. FOR E. D. LESS THAN 3 1/2" REDUCE TYPE SPACING
ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ‘ON SCHEDULE
BY THE FOLLOWING FACTORS. (NOTE : Min. E. D. FOR CALK—IN TAPCON,/ Y
ANCHORS IS 2 1/2"). PANELMATES 3.0 Division
FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING
OBTAINED USING FACTOR SHALL NOT BE LESS THAN MINIMUM
SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS CALK—IN 2.5"
LEGEND.
” F.B.C. (High Velocity Hurricane Zone
—— CF TAP—GRIP 3.0 (Hig Y —— )
© 2008 TILTECO, INC. ” .G./R.E.
0.039" GALVANIZED STEEL STORM PANEL DRAWN BY:
ACTUAL £ D o A%ELCA‘Z‘VT/ES CALK~IN CF TAP—GRIP 0822708
' IE o ATRIUM SHUTTERS, INC. DATE:
3" 86 75 1.00 IL C INC. 4800 S.W._ 51 STREET
TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 08~-169
2 1/2” 71 .50 .80 . ey 6355 M. .{ath.osse.,a;‘;a.jggg, wfgawu(gg;ugs;_r;nﬂ?wa PHONE: (954)689—7545, FAX: (954)689-8797
2" 50 R e T Frons ¢ (309 E;_ogbg;;é REV._No OESCRIPTION | DATE | RV, Mo DESCRIPTION DATE DRAWING No
: _ - v o o WALTER A, TLLIT Jr, P.E. ! oip 05-289  los/zz/08l 3 - -
MAY 2 O 2008 FLORIDA Lic. # 44167 7 - [ = i - —_| SHEET 6 oF 15




(VALID ONLY FOR PANEL INSTALLATIONS AS PER SECTIONS 1 _THRU Z._ON SHEETS 3 & 4 OF 16)

MAXIMUM MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2" *+ g?g%gﬁ?; 7"2 MAXIMUM PANEL
DE;IG(,I;I.SI..;);D TAPCONS CF TAP-GRIP CALK~IN PANELMATES ANY COMBINATION LENGTH “L" ()
TO CONCRETE | TO MASONRY | TO CONCRETE| TO MASONRY | TO CONCRETE TO MASONRY | TO CONCRETE| TO MASONRY OF THEM
6" N/A N/A N/A 6" N/A 6" N/A 1 (TOP)
6" 6" N/A N/A 6” 6" 6" 6" 1 (BOTTOM)
6" N/A N/A N/A 6" N/A 6" N/A 2 (ToP)
6" N/A N/A N/A 6" N/A 5" N/A 2 (BOTTOM)
+55.5, -72.0 6" N/A N/A N/A 6" N/A 6" N/A 3 (T0P) >7'-5" 10 8'-8"
6" 6" N/A N/A 6" 6" 6" 6" 3 (BOTTOM)
6" N/A N/A N/A 6” N/A 6" N/A 4 & 7 (TOP)
6" 6" N/A N/A 6" 6” 6" 6” 4 & 7 (BOTTOM)
N/A N/A 12 172" 6 1/4” 12 1/2” 6 1/4” 6 1/4" 6 1/4" |5 (TOP/BOTTOM)
+50.0, =53.3] N/A N/A 12 12" | 6 1/4” 12 1/2” | 6 1/4” 6 1/4" 6 1/4" |6 (ToP/BOTTOM)|>8'-8" TO 11'~2"
+55.0, =72.0|  N/A N/A 6 1/4” N/A 6 1/4" 6 1/4" 6 1/4" 6 1/4" | 6 (TOP/BOTTOM)|>8'-8" TO 11'=2"

~ SEE SHEET 8 & 9 OF 16 FOR ANCHORS TYPE & SPACING FOR

INSTALLATIONS INTO WOOD FRAME BUILDINGS. ANCHORS LEGEND

ANCHOR E D. = EDGE DISTANCE
K MAXIMUM ANCHOR SPACINGS ARE VALID FOR ANCHORS MIN.
3 1/2" EDGE DISTANCE. FOR E. D. LESS THAN 3 1,/2" REDUCE TYPE SPACING PROBUCT RENEWED
ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON’ SCHEDULE PR with the
BY THE FOLLOWING FACTORS. (NOTE : Min. TAPCON ) e 00806l 0T
E. D. FOR CALK—IN ANCHORS IS 2 1/2”). PANEL M/{TES 3.0 e pais D 20/3
FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING 1k
OBTAINED USING FACTOR SHALL NOT BE LESS THAN MINIMUM : i} By 4 .
SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS CALK—IN 2.5 Mizia DegBraduct Contro
: Division
CF TAP—GRIP 3.0"
FACTOR
ACTUAL E. D.
TAPCON, ;
PANELMAT{‘S CALK=IN CF TAP-GRIF F.B.C. (High Velocity Hurricane Zone)
» 008 TILTECO, INC. » L.G./R.E.
3 86 75 1.00 °2 0.039" GALVANIZED STEEL STORM PANEL| ,sSr®
2 1/2" 71 .50 .80
05/22/08
2” .50 - - I". l ECO ATRIUM SHUTTERS, INC. DATE:
INC. 4800 S.W._ 51 STREET

TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 _
e - — 6355 N.W. J6th, St., Ste. J05, VIRGINIA GARDENS, Fl 33166 PHONE: (954)689-7545, FAX: (954)689—8797 08-169
e I . : —1530 . Fox : (JD5) 871~1531
b 2 - e Fhone + (309) 87,:1-530%05;; 9 <0%) REV. No DESCRIPTION | DATE | AEV. Ho DESCRIPTION 0ATE DRAWING No
AR 02 WALTER A. TILLIT Jr., P.E. ! OLD 05-289 los/22/08] 3 - -
MEY 2 O 2008 FLORIDA Lic. # 44167 Z - - 7 - ~—| SHEET 7 OF 16




REQUIRED

@ Cont.

(SEE SCHEDULE

. ON SHEET 6 OF 16)___|

FOR Min. SEPARATION
TO GLASS.

1/4°0 LAG SCREWS @ 6” 0.C. W/
1 1/2" Min. THREADED PENETRATION
TO EXISTING WOOD HEADER.

1/4'8-20 $.5, BOLTS
OR £10x3/4" S.M.S.
© 6" 0C.

.

@ 12 1/2" o.c.

-®

\_ 7/8"9%3/32" WING
Nur @ EVERY STUD

1/4"8 LAG SCREWS © 6" 0.C. W/ £
1 1/2" Min. THREADED PENETRATION ¥ B
TO EXISTING WOOD HEADER, 1y
% . . %
g @), "
! S ¥ y
1 Q3 :
. A
; T -

WOQOD HEADER
REQUIRED
WOOD HEADER
REQUY (SEE SCHEDULE
QURED \® ON SHEET 6 OF 16)
FOR Min, SEPARATION
I 1 ’( TO GLASS.
—_— A
(SEE SCHEDULE V
ON SHEET 6 |
~0F 16) FOR Min.~] |
Fem' L {0 ALTERNATIVE 3
| TO GLASS. |
!
i
L e |
% v |
e | @A con
= 1 o,
g \ \
' ; L 7/8'9x3/32"
! WING NUT @ EVERY
2x4 . STUD @ 12 1/2° o.cC.
WO0D RLATE
REQUIRED .
1/4°8 LAG SCREWS © & o.c.
1 1/2" Min. THREADED PENETRATION
AT MIDWIDTH OF PLATE
i
Y
SCALE: 1/4” = 1”
NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH DESIGN LOADS UP TO
+55.5, — 72.0 psf AND PANEL'S LENGTH UP TO 8°'-8". (EXCEPT AS NOTED)

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

NOTE FOR CQOMBINATION OF SECTIONS:

FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

3
2

f@ AN

“Besi

1"%3%1/8" (Min.)
ALUMINUM TUBE
(6063-T5 ALLOY)

1/4"8 LAG SCREWS @ 6” 0.C. W/
1 1/2" Min. THREADED PENETRATION

TO EXISTING WOOD HEADER.

-—I I—.250"
Max.

O

. d; g gﬁﬁg_“,«;

WOOD TRUSSES OR RAFTER
91 ix‘J /9& REQUIRED

|
SMS. @ 6 0.cC. —/

- =,
r

.500 "——l

(SEE SCHEDULE
ON SHEET 6 OF 16)__ ]

FOR Min. SEPARATION
TO GLASS. __ ;‘ |

(LIMITED TO +55.5,—67.0 psf)

|
|
|
7/8x3/32" I
WING NUT @ EVERY ] “6* wooD REQUIRED
ST @ 12 1727 0C. ' DE)((:OI.( REQUIRED
@ 9 |
Gent. g : NO FINISH
ALLOWED

1%4%1/8" (Min.) 6063-T5
ALLOY Alum. TUBE W/

(3) 5/16% LAG SCREWS TO
EACH RAFTER OR TRUSS.
LOCATE SCREWS AT MIDWIDTH
OF EXISTING WOOD MEMBER,
(2" Min. NOMINAL WIDTH) W/
2" Min. PENETRATION.

276" WO00 DECK

N
NO FINISH ALLOWED-\

1/4" LAG SCREWS € 4" o.c.
W/ 1 1/2" Min. THREADED

A
[ 1

_@ Cont.

1/4% LAG SCREWS © 6" 0.C. W/
1 1/2* Min. THREADED PENETRATION
TO EXISTING WOOD HEADER.

[ ALTERNATE W/ STUD THROUGHOUT.

-
7/8%9x3/32"
WING NUT & EVERY

STUD @ 12 1/2° O.C.

WooD HEADER |
REQUIRED

(SEE SCHEDULE |
ON SHEET 6 OF 16)|
FOR Min. SEPARATIONT |
T0 GLASS.

_¢_

B B
I WING NUT @ EVERY
STUD © 12 1/2* o.C.

'L” Max. PANEL LENGTH (SEE NOTE 1 BELOW)———me |

PENETRATION INTO EXISTING DECK

LEILING & FLOOR MOUNTING =  WALL MOUNTING & FLOOR MOUNTING
INSTALLATION — SECTION ¢ = = INSTALLATIONS — SECTION 3

SCALE: 1/4” = 1"

SCALE: 1/4" = 1”

7/8%x3/32"
WING NUT © EVERY
STUD @ 12 1/2* O.C.

O

2%6"

W,

W00D DECK

REQUIRED
NO FINISH ALLOWED

|_1/4" LAG SCREWS @ 4" o.c.

1 1/2" Min. THREADED

FLOOR MOUNTING INSTALLATION

— SECTION 2B

SCALE: 1/4" = 1"

PENETRATION INTO EXISTING DECK

PRODUCT RENEWED
Buiding Code

F.B.C. (High Velocity Hurricane Zone)

©2008 TILTECO, INC.

/ llLIECO INC.

TILLIT TESTING & ENGINEERING COMPANY
6335 N.W. J6th. St, Ste. 305, VIRGINIA GARDENS, Fl. 33166

Phona : (305) 8711530 . Fax : (305) 871-1531
EB—-0006719
WALTER A. TILLIT Jr., P.E.
FLORIDA Hc. # 44167

2 -

los/22/08] 3
T - %

0.039" GALVANIZED STEEL STORM PANEL| jmor®
05/22/08
ATRIUM SHUTTERS, INC. ATE:
5,31,
PHONE: (954)689-7545, FAX: (954)689-8797 08—-169
REV, No DESCRIPTION | oATE | ev, o DESGRIPTION DATE DRAWING No
! 2= - ~ SHEET 8 OF 15




1/4* LD. x 5/8" LONG BRASS BUSHING W/ N .
1/4"6-20x2" S.5. M.S. @ 12 1/2" O.C. 1 !

FOR PANEL LENGTHS UP TO 5'-0" AND 1/4"0 LAGC SCREWS @ 6" 0.C. W/
T \‘.‘ - & 1/4" 0.C. FOR LENGTHS UP TO 8’-8" I \A; 1 1 1/2"° Min. THREADED PENETRATION
Max. OR 1/4"6—20 ELCO male/female _ T0 EXISTING WOOD HEADER.
PANELMATE @ 12 1/2" 0. C. WITH 1 1/2"
Min.  THREADED PENETRATION TO HEADER : y
FOR ALL LENGT! - . h 1/4'9-20 S.S. HOLTS
v L LENGTHS UP TO 8'-8" Max _ cont W/ 7/8x3/32" WING '
L . . ont. NUT @ 6* O.C. g
[»]
Qo
/ 8 .
3 / - " 1" Min: Ez
. i —.f —TH Ez %
| Q.Q‘ : ) T 1 1] ﬂ
oS A e : B
R= s ' ) , i , ¢ :
{ ’N\ ] l'? I E
| Py, B
T X - - i E gé f Cont. ;
WO0D HEADER WOOD HEADER
’ ! a ! i g REQUIRED REQUIRED
WOOD HEADER | @ WOOD HEADER ! g
REQUIRED I ‘\@ ~ REQUIRED i ®
| fu ! -
| S | | f ALTEENATIVE 1 ALTERNATIVE &
| -3 ! S
: ] f 3
oy I
| 8 . 8
A L S P z
\- \- <) A/ A L Q
§ &
4% ;‘v ~ A A~ ~
i o g
! 2 (SEE SCHEDULE £ % .
l, g | ON SHEET 6 OF 16) ! . ~~— —DL{I—’\
% FOR Min. SEPARATION y . 3 L N
(SEE SCHEDULE | 3 T0 GLASS. l e N o = I8 ‘
ON SHEET } . o Neverr sTup by ¥ e g '
6 OF 16) : ~ @ 12 1/2" o.C. & = | i
FOR Min, [" 5 ¢ ‘ =t
SEPARATION 5 e & Jor T i
TO GLASS. ! ¥ <] Q :
: & N .:,- :E J_ ™
| : T ‘ ™
i og | R N ‘ WOoD PLATE
g i Q3 2 : ™N : REQUIRED
T - m i . : WoOD PLATE :
S ! & O 1N —~|. 750"~ ) | reeuren \
! ] \ 8 1" Min— ) '
f . ! 1/4%9-20x3/4" S.S.
N gdoLTs W/ 7/8%x3/32"
N 1/4" 1.D. x 5/8" LONG BRASS BUSHING W/ "] cont. NG MUT € 67 0.C.
N—i1/4%0=2002" s5. M.s. @ 12 1/2" O.C. . ALTERNATIVE 3 ALTERNATIVE 4
-] FOR PANEL LENGTHS UP TO 5'-0” AND y y
6 1/4" 0.C. FOR LENGTHS UP TO 8'-8" - 1/40 LAG SCREWS @ 6" 0.C. W,
g Max. OR 1/4"8-20 ELCO male/female 1 1/2° Min. THREADED PENETRATION
2"%4” PLATE - am
REQUIRED | PANELMATE @ 12 1/2" 0. C. WITH 1 1/2" 24" PLATE : © MIDWIDTH OF PLATE.
: Min. THREADED PENETRATION AT MIDWIDTH REQUIRED : —
) OF EXISTING WOOD PLATE FOR ALL LENGTHS ) SCALE: 3/8" = 1”
. UP TO 8°-8" Max. X
’ NOTE : SHUTTER TRACKS NOT SHOWN FOR CLARITY
ALTERNATIVE & ALTERNATIVE 6 PRODYUCT RENEWED
a3 coszplying with the Florida
Buiding Cade
W , MOUNTING IN, Acceptsnce Ng 04— O ‘o0
ST, — SECTION 1 | wors
SCALE: 3/8" = 1 7. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH DESIGN LOADS UP TO
+55.5, —72.0 psf AND PANEL'S LENGTH UP TO 8'-8" <
2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN Divisiot
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

F.B.C. (High Velocity Hurricane Zone)

NOTE FOR COMBINATION OF SECTIONS: ©2006 TLTECO, INC 0.039" GALVANIZED STEEL STORM PANEL| poerier
————-——-—-——-———_IN STALLATION DETAILS ON FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN BE 05/22/08

COMBINED IN'ANY WAY TO SUIT ANY INSTALLATION. / \ ATRIUM SHUTTERS, INC. DATE:
EXISTING WOOD BUILDINGS lILTEC O ine. | oHVTTERS

TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 _
o e LS 6355 N.W. 36th. St, Ste. 305, VIRGIMA GARDENS, Fl. 33166 PHONE: (954)689-7545, FAX: (954)689-8797 08-169
S P Ay %g oy 5 Phane : (305) 87&1_; fz% bSF;; 9: (305) 8711531 —— e T T — DRAWING No
A o9 o WALTER A. TILLIT Jr., P.E. 1 0LD 05-289 5/22/08) 3 - -
WA 2 0 2008 FLORIDA Lic. f 44167 2 = Z 7 = ——| SHEET § OF 16




CONCRETE ANCHORS

(SEE SCHEDULE ON
SHEET 11 OF 15)\
POURED

CONCRETE

REQUIRED d

H]
Q
Q
a
—

CONCRETE ANCHORS

|
|-SEE SCHEDULE ON~

| SHEET 11 OF 16
1FOR Min. SEPARATION
TO GLASS

!
|
1
!

/\'

|

1
t
|
|
!
|
|
|
!
|
|
|
|
I
|
|
[

|
I
I
{
|
I
I
|
|
!
I
|
|
1
|
|
A

@

—7/8"8x3/32"
WING NUT @ EVERY

N

l‘/

A

x

11/8" Min. |
(SEE DET. 1/11)
i

|
I
I
1
I

POURED- &
CONCRETE OR

CONCRETE BLOCK U]

WALL REQUIRED

gy

14
{
I
|
i
I
{
I
I
I
I
!

|
|
|
!
|
|
}
|
!
|
:
|
|
|
]
:
)

— 1/4"8x1" MACHINE
70

—O

Cont.

STUD @ 12 1/2" O.C.

SCREW W/ SPEEDNUTS
@ 12 1/2” o.C.

(SEE SCHEDULE ON
SHEET 11 OF 15)_\
POURED == N
CONCRETE S== <
REQUIRED \l
g
u

]
1
|-SEE scHEDULE O~
SHEET 11 _OF 16
FOR Min. SEPARATION
T0 GLASS

/\,

|
|
|
!
|
1

T

|

|

|

i

!

|

|

|

i

I

|

|

|

:

I~ 7/8"8x3/32"

,", WING NUT ® EVERY

- L—.250"

Cont.

|
]
f
i
§
|
[
I
{
|
I
[
I
[
|
I

STUD @ 12 1/2” 0.C.

T A

|
5/8" Min. (CASE i)
3" Min. (CASE i
(SEE DET. 2/1 1)
]

L” Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 11 OF 16)

. Cont. |

CONCRETE ANCHORS
(SEE SCHEDULE ON
SHEET 11 OF 16)

[/ NTIN
— SECTION 1

@ Cont.

T

SCALE: 3/8" = 1”

|
1
|
!
|
]
|
!
|
|
|
!
|
|
|
i
I
|
|
1
|
|
!
I

|

l — 1/4"0x1" MACHINE

|/ SCREW W/ SPEEDNUTS
i oQ@e 12 1/2° o.c.

(D

L” Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 11 OF 16)

POURED —/

CONCRETE
REQUIRED ~ CONCRETE ANCHORS
(SEE SCHEDULE ON
SHEET 11 OF 16)
W. AND

— SECTION 2

NOTES ON_UIFE SAFETY STORM PANEL SYSTEM INSTALLATION :

EDGE OF
WALL OR SLAB
[~——— (Alt. CONDITION)

Q0R MQUNTING INS

E D

ION
SCALE: 3/8" = 1”

1. LIFE SAFETY STORM PANEL CAN BE LOCATED AS AN END PANEL (FIRST OR LAST PANEL)
OR AS AN INTERIOR PANEL. (ANY PANEL LOCATION IN BETWEEN END PANELS).
LIFE SAFETY PANELS MAY OR MAY NOT BE INSTALLED ADJACENT TO REGULAR PANELS
(W/ OR W/0 REGULAR TRACKS.)

2. LIFE SAFETY STORM PANEL CONSISTS OF 0.039" GALVANIZED STEEL STORM PANEL AS

PER COMPOKENT 1 , SHEET 1 OF 16 OF DRAWING.
THIS PANEL ALLOWS ITSELF TO BE REMOVED OR INSTALLED FROM THE INSIDE OF
STRUCTURE.

3. LIFE SAFETY PANEL REQUIRES TOP TRACK TO BE COMPONENT Q) & BOTTOM TRACK TO
BE COMPONENT @) AS PER SHEET 2 OF 16 OF THIS DRAWING.
COMPONENT ) MAY BE INSTALLED WALL OR FLOOR MOUNTED FOLLOWING SECTIONS 1 &
2 ON THIS SHEET, AS WELL AS DETAILS 1 & 2 ON SHEET 11 OF 16.

4. Min. LENGTH FOR COMPONENT @) IS 15"
Max. ANCHOR SPACING FOR COMPONENT (8) ANCHORAGE AT BOTTOM IS GIVEN ON

SCHEDULES 1 & 2, SHEET 11 OF 16.

COMPONENT @) MAY BE PERMANENT OR REMOVABLE.

5. SEE DETAILS FOR INSTALLATION INTO WOOD FRAME BUILDINGS ON SHEET 11A OF 16.

SEE SHEET 3 OF 16 FOR DETAIL APPLICABLE TO THE NECESSITY FOR THE INSTALLATION

OF SPACERS AT TRACKS INSTALLED ADJACENT AND BEYOND TO STUCCO,/WOOD BANDS.

»1/3 2/3 2A/3, 3/3 OR 4/3 P71 OR 2 P71 OR 2
. CONCRETE ANCHORS (SEE SCHEDULE o
"Afax | ON SHEET 11 OF 16) e |
1" Min. 1" Min,
0 ) ) ° o o [
____________ ﬂ“j—TTTT_T_T_rW“W_T_FT_T_F“"T_T“F*FT_T“rﬂ“T‘T‘rﬂ“T“T‘PW“T“Fﬁﬂ
1 I
‘V
A
1 4
(END PANEL) (INTERIOR PANEL (INTERIOR PANEL) INTERIOR PANEL) (END PANEL)

e

R

-~
25

8

(ALTERNATE LOCATION
AT END PANELS)
(SEE DETAILS 1/11
& 2/11)

AREA W/NO LIFE SAFETY PANELS

i.e. REGULAR PANELS W/ OR

LOCATION OF LIFE l

W/0 REGULAR TRACKS

TYPICAL ELEVATION

SCALE 3/32" = 1”

1/4” Max. GAP

@@ORP

SAFETY PANEL
(SEE_NOTE 1 ALTERNATE LOCATION
BELOW) L_ON LIFE SAFETY PANEL
(SEE NOTE 1
BELOW)

(ALTERNATE LOCATION
AT END PANELS)
(SEE DETALS 1/11
& 2/11)

OF STRUCTURE.

* 1asT Paner (D) TO BE INSTALLED AS

LIFE SAFETY STORM PANEL OPENING SHALL
ALWAYS BE PROVIDED W/ REAR HANDLE

TO FACILITATE INSTALLATION IF INTENDED

TO BE INSTALLED OR REMOVED FROM INSIDE

%

1/4" Max.
GAP

@{*

NIy

i
o

Y
Siad

<

:gﬁfﬁb ”j
2 v 2008

j —

SECTION B—-B

AT INT

ERIOR PANELS.
Tl

SEE NOTE 1)

SEE NOTE 1)

PRODUCT RENEWED

a5 complylep with the Flortde
Buiding Cudie

Acceptanee Ng

Divisiou

P4k o A%,
TN NI SN NI SN AT LT\J__X__/___\§
LTERNATE LOCATION

AT END PANELS.

F.B.C. (High Velocily Hurricane Zone)

©2008 TILTECO, INC.

/TitlECco me \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. J6th. St, Ste. 305, VIRGINIA GARDENS, Fl. J3166
Fhene : (305) 8711530 . Fax : (305) 871~1531

EB-0006719

WALTER A. TILLIT Jr., P.E.

FLORIDA Lic. £ 44167

LIFE SAFETY STORM PANEL SYSTEM™ LG/RE.
(0.038" GALVANIZED STEEL) DRAWN BY:

05,/22/08

ATRIUM SHUTTERS, INC. oATE:
g2
PHONE: (954)689—7545, FAX: (954)689-8797 08-169
REV. Mo DESCRIPTION DATE | REV, No DESCRIPTION DATE DRAWING No
: L “} ; = =1 SHEET 10 OF 16




ALTERNATE
AT END PANEL

L 17 (NTS)

.§
N v
N
& |
STUDS © EVERY r |° © ¢
OVERLAP 4
(12 1/2" 0.Cc.)
TO HOLD PANEL .
N
7 \
( 7 &N \ \
1 b\ Yot &: v { ! \\
J SEE SEE \—/NTERIOR PANEL \—END ) N.ELT
- SCHEDULE J‘ SCHEDULE A
OR — 3" —=l= FOR Max. FOR Max. == 3" —
ANCHOR ANCHOR
OR DIRECT MOUNT SPACING SPACING
1'-3" Min.
ETAIL 1 : W. NST. ON P CHEDULE 1

SCALE: 3/16" = 1"

{2
WD ALTERNATE
2. LOCATION
89 AT END PANEL
Q
2 NS
STV A A A A
IS
\ le \ /
™M
b |
STUDS @ EVERY P
OVERLAP y
(12 1/2” 0. C.)
TO HOLD PANEL .
N
< N
| N N
11 it Hi
J W osee W s U \-——INTERIOR PANEL \—END PANEL
I L L Ll
OR @ SCHEDULE Y SCHEDULE
3" —=l~ FOR Max. ~= FOR Max, ~=— 3"
ANCHOR ANCHOR
SPACING SPACING
- 1'=3" Min. .
AL 2 : FLO QOUNT. ST. TION (APPLI EDULE 2

£ D. = EDGE DISTANCE

SCALE: 3/16”" = 1”

(APPLICABLE ONLY TO SECTIONS 1 & 2 INDICATED FOR LIEE SAFETY STORM PANEL

SYSTEM ON SHEET 9 OF 16).

SCHERULE # 1 : (BYW/ WALL MOUNT CONDITIONS TOP & BOTTOM W/ E. D. = 3 1/2" * /yf;gs/‘gggt'pkhf?l’ﬁvl\é Max. F; /L‘N?fﬁ. )LENCTH MINIMUM SEPARATION PANEL
PPy —— W (p.s.r.) (SEE SECTIONS) TO GLASS CONDITION
DEAS{/Ig\IIMg& 5 TAPCONS CF TAP—GRIP CALK—IN PANELMATES SECTIONS # & | MAXIMUM PANEL +55.0, —72.0 8-8" 2 3/¢" UNBOLTED
W (p.s.f.) - ANY COMBINATION | LENGTH 'L” (rt)
TO CONCRETE|TO MASONRY |[T0 CONCRETE|TO MASONRY|T0 CONCRETE|TO MASONRY|T0 CONCRETE|TO MASONRY OF THEM ANCHORS LEGEND
" » ” 1 R ANCHOR
6 N/A N/A N/A 6 N/A 6 N/A 1 & 2 (T0P) | & | * MAXIMUM ANCHOR SPACINGS ARE VALID FOR ANCHORS ,ﬁ,NC_)
+55.0, =72.0 5'-0" OR LESS 3 1/2" EDGE DISTANCE. FOR E. D. LESS THAN 3 1/2", REDUCE TYPE SPACING
9" 9” 9" 9” 9” 9” 9" 9" 1 (BOTTOM) ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON' SCHEDULE
BY THE FOLLOWING FACTORS. (NOTE : Min. E. D. FOR CALK—IN TAPCON,/ 50"
» » ” ANCHORS IS 2 1/2"). :
6 N/A N/A N/A 6 N/A 6 N/A 1&2(ToP) | . FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING PANELMATES
+55.0 —72.0 >5'-0" T0 7'-6 OBTAINED USING FACTOR SHALL NOT BE LESS THAN MINIMUM -
9” 6" 9” 5" 9” 9" 9" 9" 1 (BOTTOM) SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS CALK—IN 2.5
” R » CF TAP—GRIP 0"
1550 —72.0 2 NA NA N/A 6 N/A 6 VA | 1T &230P) |, 0o g g FACTOR >0
9" 6" » ” ” » » n ACTUAL E. D.
? 0 ? ’ i d | Gorow oo | cuk-w | or me-are o
OOUCT RENEWED
» 3° .86 .75 1.00 23 compiylapg with the Flocids
SCHEDULE # 2 : (B)W/ FLOOR MOUNT CONDITIONS AT BOTTOM W/ E D. = 3 1/2” * ) g Code
2 1/2 71 50 .80 Aceeptenec Mo 98 -06//. 0 1
CASE | (STUD @ 5/8" Min. FROM TOP OF ANGLE) CASE Il (STUD @ 3" Min. FROM TOP OF ANGLE) APPLICABLE TO 2" -50 - - Expieption Date 2o
DEA;%»I/M%AD TAPCONS SECTIONS # & MAXIMUM PANEL /2
W (p.s.f.) ¢ CALK—IN TAPCONS CALK-IN ANY COMBINATION | LENGTH “L" (#.) By e
TO CONCRETE TO CONCRETE TO CONCRETE TO CONCRETE OF THEM g&ﬁfﬂé et Contrgl
X!
+49.2 —61.5 3" 3" 4 1/2” 4 172" 2 (BoTTOM) | 7'-6" OR LESS F.B.C. (High Velocity Hurricane Zone)
+52.8 -66.0 3" 3° 4" 4" 2 (BOTTOM) | 7'-6" OR LESS ©2008 TILTECO, INC. LIFE SAFETY STORM PANEL SYSTEM™ L.G./RE.
A ,, - (0.039" GALVANIZED STEEL) DRAWN BY:
+55.0 -72.0 2172 2 1/2 4" 312 2 (BOTTOM) | 7'—6”" OR LESS Py~
+55.0 ~72.0 2 1/2” 2 1/2" N/A N/A 2 (BoTTOM) |>7'-6" TO 8'-0" / I".IE C O inc. \ ATRIUMmD S.W I;rsErREET’ INC. s
DAVIE, FL. 33314
+55.0 -72.0 N/A N/A 3" 3" 2 (BOTTOM) |>7'-6" TO 8'-8" R i r;;;gr NG o ;59,’"»4?’5@”2’)’%;%’%"3‘#!5 PHONE: (954)689—7545, FAX: (954)689-8797 08-—-169
[ re—— ,—",__Iéf_‘:ff’“‘\ Prane + Ge) 87{:1_;1_531[776;;;5 (308) 8711831 REV. Mo a:;sc::rgg '[os/p;;w nrv; o DESCRIPTION DATE DRAWING No
\A AN WALTER A TILLIT Jr., P.E. ! — nd -
MAY 2 ¢ 2008 .-» ALORDA Lo 4167 ! = P = ~| SHEET 11 OF 16




1/4"¢ LAG SCREWS @ 6" 0.C. W/

-
—

L | —1 1/2 Min. THREADED PENETRATION
' [ 70 EXISTING WOOD HEADER

EQ EQ EQ EQ
|
|

EQ EQ

WOOD HEADER | WOOD HEADER

WOOD HEADER
REQUIRED REQUIRED WooD e
! o
X
I
Q
A, ' g ALTERNATIVE 1 ALTERNATIVE 2
Vv - 1 INSTALLATION DETAILS ON EXISTING
I » »
T e, b INGS FOR LIFE SAFETY
i STUD ® 12 1/2" O.C. z —- WooD BUILD. S
%]
i i v &
. | d—1/4"0x1” MACHINE
1 18" in '/ [ Soag w/ Sitovrs % STORM PANEL SYSTEM
(NTS) (SEE" i [ oD@ 12 1/2” o.c. 5
DET. 1/11) E ; 2
i ~ L
LT‘J . c.
(SEE SCHEDULE s o : [
ON SHEET g l“ \ h g
11 0F 15) | /@ N g - |
FOR Min. g 1 or <L
SEPARATION h g an g -
TO GLASS. e it 3 N
g U L . \
; ; ™ ' WOOD PLATE
! ] N REQUIRED
| ' -1 woop PLATE -
g i ! \ | reouren )
| Y
g B |
' . @ .
£ L\ L l ALTERNATIVE 3 ALTERNATIVE 4
g Cont.
o b X Ok ALTERNATIVE WOOD FRAME CONDITIONS & ANCHOR LOCATIONS PRODUCT RENEWED
REQUIRED 1/4"8_LAG SCREWS @ 6" 0.C. W/ 1 1/2" SCALE: 3/8" = 17 as complying with the Forida
Min. THREADED PENETRATION OR Bulding Code
: 1/41.0.x5/87 LONG BRASS BUSHING W/ NOTE : SHUTTER TRACKS NOT SHOWN FOR CLARITY AcceptanceNe OB -06 /). 02
1/4"6-20x2" S.5. M.S. @ 6" 0.C. OR Expiratis ) ol3
1/4"8-20 ELCO male/female PANELMATE @
6" 0.C. W/ 1 1/2" Min. THREADED By /[ L.
PENETRATION TO EXISTING WOOD PLATE Ming! Dadui:
Diviston
NOTES:
IN ST = 3 1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH DESIGN LOADS UP TO
SCALE: 3/8" = 1" +55.5, —72.0 psf AND PANEL'S LENGTH UP TO &'-8"
2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. F.B.C. (High Velocity Hurricane Zone)
©2008 TILTECO, INC. LIFE SAFETY STORM PANEL SYSTEM™ L6./R.E.
(0.039" GALVANIZED STEEL) DRAWN BY:
05/22/08
I". I ECO ATRIUM SHUTTERS, INC. DATE:
INC. 4800 S.W. 513;;/1?557
DAVIE, FL, _
- e, P S b‘;ééLI{l.Tv.K T;E;zr Ig.f;sg J%gc\!lga‘él-ﬁfgf%ﬂ?s.ogp ?.’!'1;’6‘ PHONE: (954)689-7545, FAX: (954)689—-8797 08—-169
i r,j;;;;w-ﬁ-,—:j:g;_-c—i o B Phone : (305) 871-1530 . Fa:; : (305) 871-1531 — prm— TR T o DRAWING No
EB—-0Q006719 - -
X oy gang-— LTER A. TILLIT Jr, P.E. ] OLb 05-285 _ [05/22/08f % = =
MAY 2 O 2008 HALTER A Lic. # i165 " = = - - ——| SHEET 114 OF 16




RAL NOTES: VALID E—~Z HANG STORM PA SY

. E~Z HANG STORM PANEL SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) HAS BEEN VERIFIED FOR
COMPLIANCE IN ACCORDANCE WITH THE 2004 EDITION OF THE FLORIDA BUILDING CODE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE.

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.A.D. AS TESTED WERE NOT OVER STRESSED, A 33%
INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. A DURATION FACTOR CD=1.60
WAS USED FOR VERIFICATION OF FASTENERS IN WOQOD.

STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION
1609.1.4 OF THE ABOVE MENTIONED CODE AS PER FENESTRATION TESTING LABORATORY, INC. REPORT # 2032, AS
PROTOCOLS TAS—201, TAS-202 AND TAS-—203.

. THIS SYSTEM HAS BEEN DESIGNED TO BE INSTALLED ON THE OUTSIDE OF THE OPENING ACCESSING THE OPENING FROM
THE INSIDE W/O THE USE OF A LADDER OR LIFT. THIS APPLICATION IS VALID WHEN INSTALLATION IS INTENDED TO BE
PERFORMED FROM THE INSIDE OF STRUCTURE.

. SERIES 1000 INSTALLATION IS APPLICABLE TO SINGLE AND DOUBLE HUNG STYLE WINDOWS WHEN (NSTALLATION IS
REQUIRED TO BE PERFORMED FROM THE INSIDE OF STRUCTURE.

. SERIES 2000 INSTALLATION IS APPLICABLE TO SINGLE AND DOUBLE HUNG AND HORIZONTAL SLIDERS STYLE WINDOWS
WHEN INSTALLATION IS REQUIRED TO BE PERFORMED FROM THE INSIDE OF STRUCTURE.

. ALL ALUMINUM EXTRUSIONS TO BE 6063-T6 ALLOY AND TEMPER. (UNLESS OTHERWISE NOTED)
. ALL ALUMINUM SHEET METAL USED AT CLOSURES SHALL HAVE 3105-H14 ALLOY.

. ALL STEEL SHEET METAL PANELS SHALL HAVE STRUCTURAL QUALITY STEEL, ASTM A-653 GRADE 40 Min., GALVANIZED
STEEL DESIGNATION W/FY= 41.4 ksi (AFTER ROLLED).

. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 A!S! SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS
PER DIN 50018 W/ S0 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH.

. BOLTS TO BE ASTM A~307 GALVANIZED STEEL, OR AIS| 304 SERIES STAINLESS STEEL, WITH 36 ksi MINIMUM YIELD
STRENGTH.

10. ANCHORS TO WALL SHALL BE AS FOLLOWS:

(A) TO EXISTING POURED CONCRETE:
~ 1/4"¢ TAPCON ANCHORS AS MANUFACTURED BY LT.W. BUILDEX OR ELCO TEXTRON.
— 1/4"¢x7/8" CALK—IN ANCHORS OR ELCO male/female PANELMATES AS MANUFACTURED BY POWERS FASTENERS
INC. AND ELCO TEXTRON, RESPECTIVELY.

NOTES:
A.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE SHALL BE 1 3/4" AND 1 7/8" FOR
ELCO PANELMATES.

A2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NO EMBEDMENT INTO
STUCCO SHALL BE PERMITTED. 1/4” #-20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO
EXIST, AND 1" Min. FOR WALLS WITH NO STUCCO, AND MAY BE HEADED SCREWS OR ALL THREADED SCREWS
W/0 HEAD, BUT WITH WING NUTS.

A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL
OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.

ANCHORAGE SHALL BE AS MENTINED IN A.1) AND IN A.2).

(B) TO EXISTING CONCRETE BLOCK WALL:
— 1/4"» TAPCON ANCHORS, AS MANUFACTURED BY I.T.W. BUILDEX OR ELCO TEXTRON.
- 1/4"¢x7/8" CALK—IN ANCHORS OR ELCO male/female PANELMATES AS MANUFACTURED BY POWERS FASTENERS
INC. AND ELCO TEXTRON, RESPECTIVELY.

NOTES:

B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS AND ELCO PANELMATES INTO CONCRETE BLOCK SHALL BE 1 1/4".

B.2) 7/8" CALK—IN ANCHORS AND SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO
EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4" »—20 SCREWS USED SHALL BE 1 1/2" LONG Min.
SHOULD STUCCO EXIST, AND 1" Min. FOR WALLS WITH NO STUCCO, AND MAY BE HEADED SCREWS OR ALL
THREADED SCREWS W/0 HEAD, BUT WITH WING NUTS.

B.3) IN CASE THAT PRECAST STONE, OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS
SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS

MENTIONED IN B.1) AND IN B.2).

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S
MANUFACTURER.

11. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE
SHUTTER S TO BE ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE,

BLOCK OR WOOD FRAME BUILDINGS.

12. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS
CONTACT WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL
LENGTH.

13. STORM PANEL INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING
REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

14. ROBICO SHUTTER, Inc. E — Z HANG STORM PANEL SYSTEM™ IS PATENT PENDING.

15. (a) THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE
INFORMATION FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.A.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF
THIS PRODUCT BASED ON THIS P.A.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON
THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

(c) THIS PRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WiLL
BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WiLL BE RESPONSIBLE FOR THE PROPER
USE OF THE P.A.D. ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.A.D. ENGINEER, SHALL
SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

(e) THIS P.AD. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF
RECORD THAT PREPARED IT.

16. SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED ON A READILY AND ViSIBLE LOCATION AT PANEL. ONE LABEL
SHALL BE PLACED FOR EVERY PANEL.
LABEL SHALL READ AS FOLLOWS:
ATRIUM SHUTTERS, INC.
DAVIE, FL.
MIAMI—DADE COUNTY PRODUCT CONTROL APPROVED.

PRODUCT RENEWED

a5 complying with the Flosidn
Beiding Cade
Acceptance Neo O

F.B.C. (High Velocity Hurricane Zone)

™
©2008 TLTEGO, ING. E-Z HANG STORM PANEL SYSTEM LG,/RE.
(0.039" GALVANIZED STEEL) DRAWN BY:
05/22/08
'lL IE co ATRIUM SHUTTERS, INC. DATE:
INC. 4800 S.W. 51 STREET
. TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 08~169
P— IR~ S T 6355 N.W. 36th. St., Sts. 305, VIRGINIA GARDENS, Fl. 33166 PHONE: (954)689~7545, FAX: (954)689~8797
(L espmnmmsdtitn o 5o ] Phone : (305) 871-1530 . Fox : (305) 871-1531 DRAWING No
D EB—-0006719 REV, No DESCRIPTION DATE { REV, No DESCRIPTION DATE
A oM, ) WALTER A. TILLIT Jr., P.E. 1 0D 05-285___o/22/08] 3 - -
LA{ 2 9 2008 FLORIDA' Lic. # 44167 - — 7 — — SHEET 12 OF 16




2501" 2.591" @
15.125" (TOTAL WIDTH) | 2 250" —2.250"— | W
— ~1.350" ~1.350" ~1,350" l |/ r
(S
(]
ra (= 2 T L)
" s yp- .
0.039 k\ . —ll—.075" 3 § —jj=—.075" 3 §
(Min.) 5% Tvp. N N NN
GALVANIZED e % e \Y] ~
STEEL N ~ v&\
% ’Scan M | +) \+ +)
»®, .
] I /\ 25 R 2470"—- R,
12.500" (EFFECTIVE WIDTH) &M &
J 2.470"
[}
&

(@) PANE @ REVERSED "h” TRACK @) REVERSED "U” TRACK

SCALE: 5/8" = 1" SCALE: J/B" = 1" SCALE: 5/8" = 1"
750"
0 —4]—] l—FEso"
PANEL'S END LIP &0,09 e ———— | |
W/ CRIMPED EDGE.
E]_
8
—{[125" . Q.
S N 5
I = 3 ' ¢ N
’8 T"s Y K’. m
Q Tm——— S o
Lo- \_DETAL B S 8 |
ISOMETRIC VIEW | _{

DETAIL A PANEL'S END L\/?‘ e l——z. 000,,__'

W/ CRIMPED EDGE. _250"—-| I——

(N.T.S.) DETAIL B (Typ.)
o 0 ity Camed e @ 4" TRACK ®) PANEL HANGER :1 1+ woe

N.T.S.
(nTs) SCALE: 3/8" = 1* 6061—T6 Alum. ALLOY
SCALE: 3/8" = 1”

——”- 125"

T N
—|f 125"
[ 5 |
p S
o d r
[ ® M % Q
N 8 R R —|—.055" (Typ.)
L :rl | L l PRODUCT RENEWED
I o l 28 complying with ¢he Florida
n | ' » | . Buiding Cade
: 5" Max. { ; 3" Max. | .750 Ascceptaace Ne QO ~ O &ll-0T
Expirption Date 20]7
” ” 2” »” / v
© 2°x5"(Max.) Alum. ANGLE @ 37%3"(Max.) Alum. ANG STOP_BAR 11" o6 wielad i
SCALE: 3/8" = 1 SCALE: 3/8" = 1" ' 6063~T5 Alum. ALLOY Division
SCALE: FULL
COMPONENTS F.B.C. (High Velocity Hurricane Zone)
©2008 TILTECO, INC. E—-Z HANG STORM PANEL SYSTEM™ LG6/RE.
(0.039" GALVANIZED STEEL) DRAWN BY:
05/22,/08
/ TiLlEco .. \ ATRIUM SHUTTERS, INC.
INC. 4800 S.W. 51 STREET
DAVEE, FL.
T e S T R WL Rl 0o b s e 1 6 PHONE: (954)689—7545, FAX: (954)689—8797 08-169
e ! A " Phone : (305) 871—1530 . Fax : (305) 871—1531 DRAWING No
E* A f\ { 2 o ZQ% ) _«\:) EB-0006719 REV. No D:::"sc.::rl;:9 Ls /u;;;aa u'v; No DESCRIPTION DATE
X1t WALTER A. TILLIT Jr., P.E. ! - - -
; v FLORIDA Lic. # 44167 2 - - 3 - ——| SHEET 124 OF 16




3'/14|p(8) (seE NOTE 2 BELOW)
sact” sws, /14 14/14)p @ W/ or w0 8). @) ®) (ste NoTE 2 BELOW) 2/14)p 1°/14p 4 @E;ZAZNEL ®) (stE NOTE 5 BELOW)
@ EACH END 37y CONCRETE ANCHORS - -~ CONCRETE ANCHORS {Typ.) e
oF @ [ | / / (SEE SCHEDULE ON SHEET 15 OF 16) / [ 5 [ox. | (SEE SCHEDULE ON SHEET 15 OF 16) / o |
i ifax. AT 2 M " Mi
17 Min. | 1" Min. PER PANEL 17 Min. 1 M’"-/__’lex,.. SMS. ©
. !_ ol e — . / e //9 (Tvp.) o e R o a j o~ EACH END OF @
12" = o) : e —1/2" 1/2" = Tt 1 /2"
'3 ? ? ? (.) (.) (.) ? ? ? Y (¢} o] [«] (o} Qo [+ o] [ [o] (o]
A, A :\‘ A A :
ll1—IAVII| LU L I B W | L SN N B NS M | T T TT 7 ‘1||]||| X |||||:‘V|(|| T 1T T T T7T7 ™TrTT1T 7T 17 T T T 1 11 .Fllcurf o
(END PANEL) (INTERIOR PANEL) (INTERIOR PANEL) (INTERIOR PANEL) (END PANEL) o (END PANEL) (INTERIOR PANEL) (INTERIOR PANEL) (INTERIOR PANEL) (END PANEL) Q
SEE NOTE 2, 3, 4 BELOW SEE NOTE 2. 3, 4 BELOW = © SEE NOTE 2, 3, 4 BELOW | | SEE NOTE 4 BELOW | | SEE NOTE 2, 3, 4 BELOW
L i - 4 +—
]
, (B 1) 4 DE CD\': 1) % (D\*
RS 7 N N
T k ‘—d ’ ) “‘@) ¥ ‘-—4$ * *I M v \ . \ L] L ] \-4\ ® fodl -
. . . . | T BgU"’ED PANELS Wy )
T T BOLTED PANELS W/ 1/40-20x3/4" M.S. W,
1/4°8-20x3/4" M.5. W/ LB %332 WINGNUTS 5
7/8"%3/32" WINGNUTS . A 4 A y .
A " 1 @ EA. OVERLAP b A A A &
Vv s v V L4
v A | N ?
P T T T T L T I T g |
LII°IIIIIIIIIIIII°|IIIIIII LA | T T A A T T I N A T I A | [ ° 1 | | R A | o b ol
. J_—l_._L*_I___I._J._J__J__L_I_I_I_J___.J_J__L_\_.I_J.J_L_L__L_I_ _L_L_L_l.J_I__I_J._L.J_.J‘L_Llf._L_.L._I__I_L_L_.LJ j SRy I S I U N PN ISy [N Hp I | ! \\‘\
o | o . © ) ° 7 o ° ) G ° — - © ) RN e 1 PANELMATE  (Typ.)
S \ N\ 7 CONCRETE ANCHORS - g e E I e O
o \ \/ (SEE SCHEDULE ON SHEET 15 OF 16)] —— -3 MAY BE L OCATED L’, /21, 12 7! 175 LTERNATE LOGATION
1" Min. SEE NOTE 3 OR SEE NOTE 4 BELOW BELOW 17 Min. YA .
BELow 15 * 1ast paneL (D) TO BE INSTALLED AT EACH
@ W/ OR W/0 @ @ * (AsT PANEL (D) TO BE INSTALLED AT EACH OPENING SHALL ALWAYS BE PROVIDED W/
STORM PANEL SERIES 2000 INSTALLA OPENING SHALL ALWAYS BE PROVIDED W/ ;?E/}ﬁ HANDLE TO FACILITATE INSTALLATION
_ REAR HANDLE TO FACILITATE INSTALLATION F INTENDED TO BE INSTALLED FROM
ISTALLATION IF INTENDED TO BE INSTALLED FROM STORM PANEL SERIES 1000 INSTALLATION INSIDE OF STRUCTURE.
SCALE .3/32" = 1" INSIDE OF STRUCTURE. SCALE 3/32" = 1"
1/4” Max. GAP —{[—1/4" Max. GAP -§|—1/4" Max. GAP 1/4" Max. GAP—-!
/ AMNNANNS
INVAVAWANAN VAVAVAVAVAVA @/)\—/ Eﬂv -
@/ @6? w/ or w/0 ().
©) ®. @ @)/(:LTERNATE LOCATION
SECTION A—A SECTION B—-EB AT END PANELS)
— NOTES : SCALE 3/32" = 1"
SCALE 3/32" = 1" (7). DEFINITION OF SERIES_1000: £ — Z HANG STORM PANEL SYSTEM CONSISTING OF PANEL +
NOTES : ont. TRACKS AT TOP & male PANELMATES OR 15” LONG
(1). DEFINITION OF SERIES 2000: £ — Z HANG STORM PANEL SYSTEM CONSISTING OF PANEL + AT BOTTOM W/ PANELMATES.
Cont. TRACKS TOP & BOTTOM. (2). END PANELS SHALL ALWAYS BE CONNECTED TO EXISTING SILL WALL BY MEANS OF
(2). END PANELS SHALL ALWAYS BE CONNECTED TO BOTTOM TRACK OTHERWISE A STOP BAR gﬁﬁﬁMgEEgo%EgEgs% v ’Nrﬁ/”/ ‘%47,,2_&%%. ) STRAWC/K '74/78%2737/0?2',,5"’0 PANELS
(6) SHALL BE PROVIDED AT TOP OF SUCH PANELS. WING NUT OR 1/4’8~20x3/%" Min. THUMBSCREW INTO TAPPED (2) (EXCEPT AS
(3). IF END PANELS ARE CONNECTED TO BOTTOM TRACK, CONNECTION SHALL CONSIST OF DESCRIBED ON NOTE (3) BELOW).
1/4°0-20x3/4" M.5. W/ 7/8"0x3/32" WING NUT OR 1/4"8x3/4" Min. THUMBSCREW PRODUCT RENEWED
INTO TAPPED, BOTTOM TRACK. LOGATION OF FASTENERS ‘WY GF 4T emues or o (3). FOR CASES WHEN END PANELS ARE USE JOINTLY W/ 15" LONG TRACK AT #s complying with the Forids
: BOTTOM BUT END PANELS ARE NOT CONNECTED TO BOTTOM TRACK (2), A STOP BAR Buiding Code
EXTERIOR FLAT FLANGES OF END PANEL. '
(8) SHALL BE PROVIDED AT TOP OF SUCH PANELS. Acteptasce No 03-06 /). 01
(4). IN CASE THAT END PANELS ARE NOT CONNECTED TO BOTTOM TRACK (ie. A STOP BAR (4). FOR INSTALLATIONS WHEN END PANELS AND SOME INTERIOR PANELS ARE DIRECTLY
IS ONLY USED AT TOP) AT LEAST TWO PANELS SHALL BE CONNECTED TO BOTTOM TRACK MOUNTED TO EXISTING SILL WALL BY MEANS OF PANELMATES, ONE INTERIOR PANEL
USING SPECS INDICATED ON NOTE (3) ABOVE. IN SUCH CASE, CONNECTION OF PANELS MAY BE USED JOINTLY W/ TRACK AT BOTTOM ATTACHING BOTTOM TRACK TO WALL
TO BOTTOM TRACK MAY OCCUR AT ANY PANEL LOCATION. W/ TWO PANELMATES FOLLOWING SPACING SHOWN ON ELEVATION AND vp/ 3 12"
5). SEE SECTION 1, 3’ & 4’ SHEET 14 OF 16. U, £ : Min. EDGE DISTANCE. FOR THIS CASE, INTERIOR PANEL USED JOINTLY W, DOES
) ON OF 16. SEE ANCHOR SCHEDULE ON SHEET 15 OF 16 NOT NEED TO BE CONNECTED TO BY ANY MEANS. TRACK SHALL BE INSTALLED
SUCH THAT ADJACENT PANELS (TQ THE LEFT & RIGHT SIDE OF INTERIOR PANEL) HAVE

THEIR OVERLAPS RETAINED BY

F.B.C. (High Velocity Hurricane Zone)

™
©2008 TILTECO, INC. E—7 HANG STORM PANEL SYSTEM L.G./R.E.
(0.039" GALVANIZED STEEL) DRAWN BY:
05/22/08
I||.. I ECO ATRIUM SHUTTERS, INC. PATE:
INC. 4800 SW. 51 STREET
TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 08~—169
JU— ,u—-;ﬁw,m«_\ 6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, F1. 33166 PHONE: (954)689—-7545, FAX: (954)689~8797
e e ~ Phons : (305) 871-1530 . Fax : (305) 871~1531 AWING N
EB—-0006719 REV. No DESCRIPTION DATE | REV. Mo DESCRIPTION DATE DRAW! °
4 ey i
SiNeN ) L WALTER A TILLIT Jr., P.E. ! OLb 05-289 o5/22/08] 3 = =
MAY 27§ 2008 FLORIDA. Lic. # 44167 P = 1 ~ —— SHEET 13 OF 16




POURED CONCRETE

CONCRETE ANCHORS REQUIRED ?so&é.{:c’ggffggfg ors Cont.
(SEE SCHEDULE ON ——@ Cont. CONCRETE_ANCHORS \ —@ Cont. ON SHEET 15 OF 16) £ D\ S oEboE 1 Cont.  1/4°0=20x3/4" M.S.
SHEET 15 OF 16) (SEE SCHEDULE " W/ 7/8"%3/32"
—\ . ON SHEET 15 OF 16) p
ON SHEET 15 OF 16) \ #14x1° S.MS. © FOU CONCRETH =Q WING NUT @ 12" O.C.
B :E — #14x1" SMS. @ = “B /—EA' END OF @ Rﬁo'oﬁle;%p £ I \ S #14x1” SM.S. ©
roURED ~ :f A EA END OF @ == <{ _:f / <:> \-—Eo——H—Eo——— FOURED CONCRETE AN _‘_‘[‘ // B END OF @
CONCRETE T T ] TE-——<
REQUIRED , ® ] r a I @ Cont. 1 _
Q J il (SEE DETAIL 1 & Q S ’g ! #14x1” SMS. @ U 1 SEE DETAIL 1 &
uj T m NOTE 1 BELOW) uj "'3 S 1/4"8-20x3/4" 1 ' BN oF @ & T OTE 1 BELOW)
= TRUSS HEAD M.S. :
T T / . i
| : i ! : ] ! W/ WING NUT @ cont. ! W {p ]
\ , = , = MIDWIDTH OF \ ! _E
| | I | i ) LEVERY B (Tvp) | e DETAL 1 | ! !
| B B SR T[] frata Bk
! i Q" ‘ [*J‘ig\ £ ! q::
i
! | ! || ' ! -3/16" Alum. POP | | = T ’ { | 3
, | } | = I } I RIVET © MIDWIDTH | s ; r | ! l Q
! ' ! ‘___.< : ) . | o8 ?Tf,pFVERY ® 1/8"%0-20x3/4"  — | | e 1 Lo Y
} | L 5 | A B 2 s wl 7835z | ; ____@ | L o
! A, ) & I 0 A A |_® Lv: WING NUT @ 12" 0.C. | l =) A 1 ‘h— 2
N— % " ; A————— S | - — [ VT &
II 1 N i | ] o ! | . | | %
i | | <>
| (seE scHEDULE | | } : ] ( ’l : E ] A, } )I\, I e : : 8
i 3 'SEE SCHEDULE by : i
i » B W ' 0y 4" W
| ov sheer ! Yy oN sHeer |l | 3% I VT S (SEE SCHEDULE | s 452,?53"‘;,/ 3
~ 2o | 1/4% 20x3/4" 3 - 1200 18 ] b ook e 3 | I e ON SHEET 15 OF 16)__| } 7/8%0x3/52" g
FOR Min | | 17 oy 8 FOR Min. | | |w screw w/ W (SEE SCHEDULE L 1 /4%8-20x3/4" 3 ™"FOR Min. SEPARATION™ | | Wine NOT @ 5
SEPARATION ! / x SEPARATION P ¢ = |__ON SHEET 15 OF 16)_{ 4L TO GLASS. - s
TO GLASS. | | 7/8"x3/32 g ! 1| 7/8"0x3/32 3 - M. SCREW W, ql 0 . EVERY OVERLAP
' WING NUT @ 0 T0 GLASS. WING NUT @ 2 FOR Min. SEPARATION || | 7/8"x3/32 b ' L
| l i | TO GLASS. A g i
I I-EVERY OVERLAP ﬁ i | EVERY OVERLAP & - | | | Z'/\I/NfG?YNngE@MP S0 l [ a9
) it El R EE 3 | |
| / | x | / l ty | | . | §
(D) “ Q )
| g . hy ! A ' LA 88 =3 o S8 4
1 -~ T 7 fE /\, A Q- L T ! /\r | u\, | 8 S ~J
| | I Q 8 ] ! | g ; | Vi N 0 S5 S Lé'l
! A r Al S~ ';é: A ! )'\/ | & | I, 8% . o —V [ VT 0 g g
3 e H =
i 4% I T § 08 = % I AT o 1/4"0-20x3/4" M.S. 1 : | S§ § b 8 | | 3¢ 88 & &
i | I s &K % | i | 2 W/ 7/8'x3/32" WING | ; | = N Cont. | | 8% 42 ¢ $
! S Ed 5 ¢ ! g NUT @ 12" 0.C. | | 4 %8 3 | l,L x5 ¥ |
! | | _T 9 . ! | i ! N | @ 3 ! gx =
xS BN | | i I 3 R x ¥ %
{ 88 o | L ] s (2" x 3" Max.) $s | T 38
% s N
l §2 1 ! koo (6) cont : | / : ye o o N
POURED . e : 3 - Q i AN
CONCRETE OR & : I §e POURED Q : : . L i ' [° W I ! ] »
; CONCRETE W i
BLOCK WALL W ’8 Tk OR CONCRETE | | P ol / % Cont. , L
REQUIRED “ / J AT e | Al /_ ! POURED CONCRETE ' % ‘
oA ==L | il 1/4"0-20x3/4" M.S. OR CONCRETE |~ — 1/4°0-20x3/4"
[ " " _=7"“ W/ 7/8"0x3/32" WING BLOCK WALL H T L1.25 :_,]_7  Min M.S. W/ 7/8"#x3/32
lp——= 1/4"9-20x3/4" M.S. | POURED FO—t—rEQ—- NUT OR 1/4'9-20x3/4" REQUIRED 5 ’ ) WING NUT OR
W/ 7/8"8x3/32" WING _ T_7/ L i ! CONCRETE N THUMBSCREW (SEE Q " " 1/470—-20x3/4"
NUT OR 1/4"8—20x3/4 1/4% ELCO . REQUIRED NOTE 1 BELOW) CONCRETE ANCHORS /] ] 1/4'0-20x3/4"  THUMBSCREW (SEE
THUMBSCREW (SEE male PANELMATE [ (SEE SCHEDULE M.S. W/7/8°x3/32 NOTE 1 BELOW)
CONCRETE ANCHORS NOTE 1 BELOW) @ 12 1/2” 0.C. 9 —— EDGE OF ON SHEET 15 OF 16) WING NUT
(SEE SCHEDULE ) >/ ((,‘ONCREI'E ANCHORS ;/%L COOR D?%BN ) @ 12" 0C.
ON SHEET 15 OF 16 'SEE SCHEDULE E. D Alt. CON,
EQ EQ ON SHEET 15 OF 16) Cont.
s s ] s
SECTION 1 | SECTION 2 SECTION 3 SECTION 4
SCALE: 3/8" = 1" + SCALE: 3/8" = 1” SCALE: 3/8" = 1" SCALE: 3/8" = 1" PRODUCT RENEWED
as compiving with the Florida
2)#10x3/4” OTE_1;
— g‘ffs To/@ NOTE 1 NOTE._FOR COMBINATIO,
2 S SPECIFICATIONS AND REd e e OUNTING SHOWN ON SECTIONS 1° THROUGH 4’ £ o= fggg géf—/?ﬂi ON
: USE OF STOP BAR AT TOP AS-WELL AS M ;
( > BT CE OF PANEL = ¢ OF PANEL é CONNECN 70 TRACKS (2) OR CAN BE COMBINED IN ANY WAY TO SUIT ANY SHEET 15 OF 16) Division
o (3) AT BOTTOM, BASED ON 1000 OR 2000 INSTALLATION.
(2410x3/2" SERIES INSTALLATION TYPE ON SHEET 13 OF 16.
""“'_". @ Xro/@ F.B8.C. (High Velocity Hurricane Zone)
™
i o O ©2008 TILTECO, INC. E~7 HANG STORM PANEL SYSTEM LG./RE.
f—— "——j (0.039" GALVANIZED STEEL) DRAWN BY.
A\ T TiLleco ATRIUM SHUTTERS, INC os/22/08
’ . DATE:
IL E C o INC. 4800 SW. 51 STREET
TILLIT TESTING & ENGINEERING COMFPANY DAVIE, FL. 3331 -
QETQ !L 1 6355 N.W. J6th. St, Ste. 305, VIRGINIA GARDENS, Fi. 33166 PHONE: (954)689~7545, FAX: (954)689—-8797 08-169
- " -——-—-——-VI EW X 5 Phone : (302) 67,:’-;7_5220;;9 (3ae) ari-1531 REV. No DESCRIPTION DATE | REY. No DESCRIPTION DATE DRAWING No
SCALE: 7/2 = 1 - WALTER A. TILLIT Jr., P.E. 1 OLD 05-289 05/22/08 3 - - SHEET 14 OF 16
FLORIDA Lic. f# 44167 2 Z - : = -




POURED CONCRETE

OR CONCRETE

BLOCK WALL
REOU/RED—\

E. D. = EDGE DISTANCE
HEDULE FOR INSTALLATIONS INTO CONCRETE AND MASONE S ¥
2" Min. (VALID ONLY FOR PANEL INSTALLATIONS AS PER SECTIONS 1’ THRU 4'. SHEET 14 OF 16).
CONCRETE ANCHORS A8 - 312 S PPLCALE T
" MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2" +
@ 127 0C T~ MAXIMUM SECTIONS # & MAXIMUM PANEL
! DESIGN LOAD TAPCONS CALK—IN PANELMATES ANY COMBINATION LENGTH "" (in.)
W (p.s.f.)
' TO CONCRETE | TO MASONRY | TO CONCRETE| TO MASONRY | TO CONCRETE | TO MASONRY OF THEM
v on ” " on o 12" N/A 12" N/A 12" N/A 1" & 2’ (TOP)
2'x2°x.055" TO 2"x3"x.055 I 17 (BOTTOM)
Cont.” Alum. ANGLE OR / 12 4 12" 51/2 5 5 SERIES 2000 +
METAL Alum. BENT PLATE 12" 51/2 12" 8 1/2 8’ 8 SERIES 1000 ++
OR 18 GAGE GALVANIZED . 12 12" Y " (BoTTOM)
STEEL. N/A N/A N/A N/A 2 1/2 12 1/2" 2 ,
+66.0, —75.3 & / 4 70" OR LESS
7" N/A 6 1/2” N/A 4 1/2" N/A 3’ (TOP)
12” N/A 12” N/A 9 1/2" N/A 3’ (BOTTOM)
” » 12" N/A 4’ (TOP
ASE A 12 N/A 12 N/A l/ (TOP)
SCALE: 3/8" = 1” 12" 8” 12” 12" 12" 12" 4’ (BOTTOM)
—_—t—
END CLOSURES DETAILS b .
| N X
i 3%
)
+ REQUIRES Max. DISTANCE BETWEEN BOTTOM OF PANEL AND (@) TO BE: 1/2" —
: J v A o s ! . '_®
(VALID ONLY FOR PANEL_INSTALLATIONS AS PER SECTIONS 1’ THRU 4'. SHEET 14 OF 16), —®
+ 4+ REQUIRES Mox. DISTANCE BETWEEN BOTTOM OF PANEL AND (2) TO BE: 3/16" ..
©0 .
MAXIMUM DESIGN Mox. PANEL LENGTH ig
L MINIMUM SEPARATION PANEL APPLICABLE TO w2
PRESiU(F;i 'STING (SEELSE("Z#ONS) TO GLASS CONDITION SECTIONS %
+66.0, ~75.3 70" OR LESS 2 9/16” BOLTED * 1 2&s \ L@
+66.0, -75.3 70" OR LESS 2 7/8" BOLTED * 4
* BOLTED W/ 10214%—20)(3/4 " S.S. M.S. & WINGNUT AT OVERLAP & 40% OF PANEL LENGTH
MEASURED FROM BOTTOM OF PANEL. PRODUCT RENEWED
ANCHOR G as complying with the Flozkis
ANCHOR
K MAXIMUM ANCHOR SPACINGS ARE VALID FOR ANCHORS MIN,
3 1/2” EDGE DISTANCE. FOR E. D. LESS THAN 3 1/2" REDUCE TYPE SPACING
ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE
BY THE FOLLOWING FACTORS. (NOTE : Min. E. D. FOR CALK—IN TAPCON/
" 3.0” Division
ANCHORS IS 2 1/2"). PANELMATES
FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING
OBTAINED USING FACTOR SHALL NOT BE LESS THAN MINIMUM
SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS CALK—IN 2.5"
LEGEND.
CF TAP—GRIP 3.0 F.B.C. (High Velocity Hurricane Zone)
FACTOR
©2008 TLTECO, INC. E—Z HANG STORM PANEL SYSTEM™| L6/RE
ACTUAL E. D. TAPCON/ (0.039" GALVANIZED STEEL) DRAWN BY:
PANELMATES CALK=IN CF TAP=GRIP | — SEE SHEET 16 OF 16 FOR ANCHORS TYPE & SPACING FOR 05,2208
- INSTALLATIONS INTO WOOD FRAME BUILDINGS. -I_I'__'— ATRIUM SHUTTERS, INC. DATE:
3 .86 .75 1.00 IL E c o INC. 4800 SW. 51 STREET
,, DAVIE, FL. 33314 _
2 1/2 .71 .50 .80 . Sn. Tt Se 300, G CURDENS, 33186 PHONE: (954)689~7545, FAX: (954)669—-8797 08—-169
2" .50 - - R Fhone : (305) 57;;_5;;%0;;;9 (208) 871-1831 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
1 OLD 05-289 05/22/08 3 - -

MAY 2 0 2008

WALTER A. TILLIT Jr., P.E
FLORIDA Lic. # 44167

2 -

- 4 - -

SHEET 15 OF 16




1/4"8 LAG SCREWS @ 6" 0.C. W/
1 1/2” Min. THREADED PENETRATION
TO EXISTING WOOD HEADER.

#14x1" SM.S.
@ EA. END OF (@

(SEE DETAIL 1/14 &
NOTE 1A BELOW)

WOOD HEADER
REQUIRED —CQ
—A— —-____,L_l_
YV — —
!
I
2 9/16" Min. I
— SEI{4RA770/IV - ! 1/4°9-20x3/4"
TO GLASS. { M.S. W/7/8"ax3/32

WING NUT @
EVERY OVERLAP

"L” Max. PANEL LENGTH (SEE NOTES BELOW)———— ]|

1/4'0 LAG SCREWS @ 6" 0.C. W/
1 1/2" Min. THREADED PENETRATION
TO EXISTING WOOD HEADER.

4) cont.  #14x1” S.M.S.

/—@ EA. END OF (@
=i

7

7

1/4"0~20x3/4" TRUSS

I— 500"

WING NUT @ MIDWITH
- OF EVERY (®) (Typ.)

-T
5WJ/ﬁ

WOOD HEADER O .
REQUIRED N (ve.)
A | |
== —— —
I —{ )
I
2 9/16" Mi :
hn. LV 4u
- separaTioN - | |20
TO GLASS. ; 7/8"ex3/32"

WING NUT @

/ EVERY OVERLAP
L
i

“L” Max. PANEL LENGTH (SEE NOTES BELO

!
38
! SES = SS—
= o - . Az, i
| £ ﬁlt"n" o~ i
| a: 9 I L‘
| S g% ke | :
F : b LLL" Q | N
_[ x X | 9
[ CRY |
' ¥ 1 .: .: N I (
M & 1
| ™ g] | Tl ke, |
o 4 g E :
W] l W \ L
1/4"8-20x3/4" M.S. W/
g 7/8'0x3/32” WING NUT \/\
\ OR 1/4"2-20x3/4" ‘
\/\ THUMBSCREW (SEE NOTE 1A BELOW) ) ) y
1/4° LAG SCREWS @ 6" 0.C. W/ 1/4°8 ELCO male PANELMATE W/
F 1 1 7/8" Min. THREADED PENETRATION
7 1/2" Min. THREADED PENETRATION @ ¥ e 12 1/2" o.c
MIDWIDTH OF PLATE AT SERIES 2000 OR \ it
} ! (2)1/470 ELCO male PANELMATE W/ Min, (2) 2*4
¥ 1°7/8" Min. PENETRATION @ 12" @ WOOD PLATE REQUIRED
SERIES 1000 FLAT OR ON EDGE
Min. (2) 2"x4"
WOOD PLATE REQUIRED 9
FLAT OR ON EDGE
X SECTION 2
SECTION 1 SCALE: 1/4” = 1"
SCALE: 1/4" = 1*
A
¥

1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH DESIGN LOADS UP TO

+66.0, —~75.3 psf AND PANEL'S LENGTH UP TO 5'-10"

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN

PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

EQ EQ

HEAD M.S. W/ 7/8%¢x3/32"

~3/16" Alum. POP RIVET
© MIDWIDTH OF EVERY (B)

v »
1/4'9-20x3/4" M.S.

1/4°0~20x3/4"
M. SCREW W,
7/8"0x3/32
WING NUT @

12" 0.C.
L2

[v—

2 9/16" Min.
TO GLASS.

W/ 7/8"ex3/32"
WING NUT
@ 12" o.c.

(2"%3” Max.)
6
Cont. ®

LS

——— SEPARATION —

¥

o

£0

EQ EQ

T ' [
1/4"0-20x3/4" M.5. W/

7/8°0x3/32" WING NUT
OR 1/4°8-20x3/4"

THUMBSCREW (SEE NOTE 1A BELOW)

[~~1/4"¢ LAG SCREWS @ 6" 0.C. W/

NUT OR

Cont. WING NUT ® 12" 0.

1 1/2” Min. THREADED PENETRATION
Min. 2"x4” WOOD

PLATE REQUIRED FLAT

SECTION 3"

SCALE: 1/4" = 1"

INSTALLATION DETAILS ON EXISTING

WOOD PLATE REQUIRED
FLAT OR ON EDGE

SECTION 4~

PRODUCT RENEWED
as compiying with the Florids

SCALE: 1/4" = 1”

TE 1A

paner (1)

WOOD BUILDINGS FOR E—-Z HANG

WO0D HEADER

STORM PANEL SYSTEM

SEE SPECIFICATIONS AND REQUIREMENTS FOR
USE OF STOP BAR (8)
CONNECTION TO TRACKS (2)
AT BOTTOM, BASED ON 1000 OR 2000
SERIES INSTALLATION TYPE ON SHEET 13 OF 16.

AT TOP AS WELL AS
OR

,(,35)432-’,’%' ,fng,,,?sz 0b 1/4"0 LAG SCREWS @ 6" 0.C. W/
FLAT OR ON EDGE 1 1/2" Min. THREADED PENETRATION
L S TN TO EXISTING WOOD HEADER.
1/4"9-20x3/4" M.S.
6)Cont. W/ 7/8°%x3/32" WING
i 1/4°8 LAG SCREWS @ 5" 0.C. W, 4/ ' T @ 127 0.
1 1/2" Min. THREADED PENETRATIGN A/8 @) Cont. f14x1* sus.
: /—TO EXISTING WOOD HEADER. i/ 9 @ EA. END OF (D
d g
2 2 (SEE DETAIL 1/14 &
4) Cont. y1ax1” sM.s. = e
@ EA. END OF @ ¥ 1 I
(SEE DETAIL 1/14 & - I
NOTE 1A BELOW) |
17l WOOD HEADER REQUIRED : N
[ 5 —h S
l | p— J— ry
i — —'r""lr Q
' ’\ 1 2
l 1 g » | b
S 2 7/8" Min. B S
r & SEPARATION i o
: 1/4"8-20x3/4" 0 TO GLASS. i 1/4 "¢;§V0/x.;//4" b
M. SCREW W, M. SC {
Vel A
14
! } EVERY OVERLAP b | |EverY OVERLAP g
' N ! 28 N
[
| s | & . g
| S8 g ' 0"l <
i ] » - — . BE N
| 4 vy v § Wy o I
| mﬂ Z | = w(’) ? »
N P - ! g xS %
—s 4§40 ! 2L o -
¥ & N 3 penes Cont. | Q i 3
18k 2 | 3%
{ § © ? . : ==
_l x X o~ N *m
= == X
! TN | 0
I N
LD A1 0
I | 1/4'2~20x3/4" M.S.

W/ 7/8'9x3/32" WING

1/4°8—-20x3/4"

THUMBSCREW (SEE
NOTE 1A BELOW)

1/4'¢—20x3/4" M.S. W/ 7/8"ex3/32"
" o0.c

3 1/4°@ LAG SCREWS @ 6" 0.C. W/
1 1/2" Min. THREADED PENETRATION
@ MIDWIDTH OF PLATE
Min. (2) 2"%x4"

F.B.C. (High Velocity Hurricane Zone)

NQTE FOR BINATION QF TIONS:
REQUIRED ©2008 TILTECO, INC. E—~7 HANG STORM PANEL SYSTEM™ LG./R.E.
FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN BE (0.039" GALVANIZED STEEL) DRAWN BY:
COMBINED IN'ANY WAY TO'SUIT ANY INSTALLATION. ALTERNATIVE TOP HEADER WOOD FRAME 05/22/08
CONDITION & ANCHOR LOCATION |"_ | ECO ATRIUM SHUTTERS, INC. DATE:
AE 1/4% = 17 INC. 4800 S.W. 51 STREET
SCALE: 1/4” = . TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 08—169
NOTE : SHUTTER TRACKS NOT SHOWN FOR CLARITY e .w_.:f?“ S e _ [6355 Nw. 36th. st, Ste. 305, VIRGINIA GARDENS, Fl. 33166 PHONE: (954)689—7545, FAX: (954)689-8797
< '-—ﬁ-:;'”"&:fis« T - Phona : (305) 871-1530 . Fax : (305) 871-1531
ety oo EB—-0006719 REY. No DESCRIPTION DATE § REV. No DESCRIPTION OATE DRAWING No
AEY OO NN WALTER A. TILLIT Jr, PE. 1 00 g5-289 __los/22/08] 3 - -
MAY 2 © 2008 FLORIDA L g ‘44167 - = = - = —— SHEET 16 OF 16




